XHBEEREBRAT

YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

SRMEEEXREEAR29582158
NO.21, LANE 295, SEC 5,DAFENG RD., SHENGANG
DIST., TAICHUNG CITY 429, TAIWAN
TEL:886-4-25284429  FAX:886-4-25242345

E-mail: chiba.tw@gmail.com

http://www.chiba.com.tw

RERSR -
RREVEHBEEBRAT
FRMRZEEREHEIFEREFIRIEEHNIRTB
TEL:0769-81666313 52 : 13662900729

IREFRTHE - 8 E LR

201703hR

CHIBA

o 00 H) H2) 0 i) 3

CENTRALIZED LUBRICATING SYSTEM
PRODUCTION GUIDE




o oE oW 4’!‘?%

4 .i. r:‘kl

-
ay =
>

i
aauss” aFAREE

AP

S UHR RIE 1

& F 3R REH

CHIBA

XBATDRIIREKE6SE - BXRFHBEBRA RS BISEE
ARIRKE B - 8. RER - NMERHED LOVRY - ERSSROEMRIR -
HHDRERSHEHETR - BXGE - FREERAECNERERE - UESHHN
2t > DENEX @ EHRAIFRENEERRRITKZVEN - SRMnENER @ 0T
HRTERENFET - TREIESVR - ALHEFIERZRNERENSRE UM
ARBFEERENE"  —BRRAFAIBRFIZAFNEADEE

ERPOHE T XBERBERAMBRFENERCRATHE - REAREETEXR
RERMZA - RERHESNE TN REEAE - EEERSSPERORHES -

The company establishes to 1976, specialized manufacture research and development
lubrication system and each related oil duct disposition.

This company grasps “ Innovation, Stability ” is a target. Not only provide the service
on the product, (but also) includes each technological exchanges in among with the : D (MOMBEBEE o
user mutually to the demand, is striving for to strive, researches and develops the = jg:;my ;5 P
humanized product item to meet the changes of the market. i

The request of the quality, before leaving the plant, rigorous production assembly with
the test is necessary. The high-tech quality product, had to maintain stably at being
made and moved, could achieve peak efficiency. Therefore, our self-request is the
stable high quality " create the highest profit with the smallest cost " is always the
biggest feedback we want to give to customers.

In the competing market, CHIBA molds the enterprise characteristic, differentiates
with other competitors and creates special features, and has a long-term technological
exchange agreement with American advanced big plant.

To promote the upgrade and the research development of technique continuously,
announcing more services and products to match the customers' demand. AR g

01 (171



i il = £
OIL SYSTEM =F #]) & Gl Hand Series

= ol

I il = R

OIL SYSTEM

Page

LTRFEANER Hand-Cranked Pump 04
LT-WEFEREIEH Handle Pressure Release Pump 04
SMA-3RVEE BN EH Intermittent Electric Pump 05
SMA-6ELEB B E R Intermittent Electric Pump 05
TMEUEI TN/ IRBINEBEE  Resistant-type / Pressure-relief Lubricant Pump  06~09
YMGPEEEEH Auto Pump 10~13
MFERR BT EEER Digital Lubricator 14~17
EEE/I—RE/EaE Connector / Triform Tube / Four Sides Tube 18
L5 B 122 ) 25 P 3w % Y Ratio Distributor Controller P 3 Type 19
DB E o e 8% Adjustable Distributor 20
VBF R D HEC 2 Adjustable Distributor 20
HBLEE BB\ DA a8 Positive Displacement Injector System Distributor 21
BHES /M Oil-Valve 22
EEFEN DIk Positive Displancement Injector System Distributor 22
FSSTE2EM] Quantitative Valve 23
ASKEIZEER T\ HH Air Type Engine Oil 24~25
DM-ARESHRES DA  Quota Oil Gas Mix Divider 25

=lR% :

GREASE SYSTEM
SKF &= M HH Manual Type Engine Grease 26
MSK-10EEMR BN EMEH  Pressure Relief Grease Pump 27~29
MSKE &)= HE A Auto Grease Pump 30~31
YTCB-35t R EEHI= Counter Control Box 32
SDE—RIRI\ D2 Single Cycle Oil Distributor 33
ASKREIREIVE MY #m/ &W Air Type Engine Oil / Grease 34~35
YTCBEHIE (st NigHIEEERE) Control Box (With counter detector to feedback system) 36
RHEEZHBEINDHEZE  Quantitative Oil Distributor 37
HHEER Grease-Valve 38
EEaENDE 2 Positive Displancement Injector System Distributor 38

= y -

Ecﬁeﬁsﬁgm YEM-25B E R T E Solenoid Pump 39
MS BBIREE Pressure Release Rated Volume 40
MERTBRIRE R Pressure Release Rated Volume 40
frmE A /AR Oil Pump / Top Adjuscing Valve 41
NOP B E#E &2 H Tri-way Pump 41
YC-U ZKINEH Under Water Collant Pump 42
YC-S BIRT\EH Self-Absorbing Collant Pump 42

BERGK L

OIL MIST SYSTEM AMPERESEZTERSAIHER  Oil Mist Lubricating Pump 43~44
AMLSEZ M2 BB naltEIR Micro Lubricating & Cooling Qil-mist System 45~46
S 7 [ LAY 1 Oil Mist Collector 47

Be % e Bl % 48~54

ACCESSORIES

L 03 J

35 Ell ﬁ §|] Hand System

BEfi/Unit: mm

LT F#& 3 &8 Hand-Cranked Pump

LT-WEFERBEINEH Handle Pressure Release Pump

& I fit ¥ £ FUNCTION AND FEATURES
FENFGBELT-8 » BIEFRERE » BEHAKCEERE -

BHEHEOnE > NRIEF » BRERRL -

Handle pump type LT-8, operate repeatedly, The oil compress by the

piston and the oil output from the ports. Release the handle and return

to the original position.

H ¥& ¢ SPECIFICATION

Capacity | Pressure

LT-8 | 8cc | 650 cc |15 kglcm?| 100 x 110 [208.5

ZHERIYAXB | RYC | RYD
Size C | Size D

82 |1/8PTEHR

BS{i7Unit: mm

& I} HE %F £ FUNCTION AND FEATURES
EFREBIRE  SEBNBERERISENDEEHET -
BRE  EFTNERERENER » DEREEFHTAILE -

Repeatedly operate the handle. The lubricating oil will compress &
save the oil in each distributor. Loosing the hand and pressure
release. The distributor put out the oil for each point.

¥ 7% SPECIFICATION

B |[tHE| B2 [B73 ZERTAB | RYC | RYD | Pt
Model | Outlet | Capacity | Pressure SizeAxB | Size C | Size D Outlet

LT-8W| 8cc | 650 cc |30 kg/cm?

100 x 110 |208.5| 82

1/ 8PT




I il &= &R I il R R

OIL SYSTEM OIL SYSTEM
| [ |
&8 Fll & Yl Auto System & &l & Fll Auto System
SMA-3EREHEHMNE R Intermittent Electric Pump E{IUnit: mm TMEUE 13N / R BE T B8 B Jf Resistant-type / Pressure-relief Lubricant Pump
100 FHPLC#=IEY Controlled by PLC BIEERIEHIEY With time controller
- ﬁ‘ Ij HiE %# £ FUNCTION AND FEATURES = . T™-3F T™-3CF
. o o . _ N - ERNBEEERE ' ] BERNEEERE
ERNINZINGERE - HENER - BEERFERBEIRNER - Resistant-type Lubricant Pump Resistant-type Lubricant Pump
2 - BIEEETE -
\ I_j!',__‘ Fﬁ BQEA BE,mEl:ﬁ*E TM'3FW TM'SCFW
Pump with the oil-level switch. That will be alarm or send out the sign BT BB EE IR B EEE

to advice. There ar two type for the switch connection: A and B. el Pressure relief Lubricant Pump . | Pressure-relief Lubricant Pump
i | -

Bl ¥4 3 W] SPECIFICATION
155 SMA-301-5F

?&I & Float switch
Fﬂ%ﬂﬂ—ﬁ'ﬁ Interval time
@J_ Power voltage 01:110V, 02:220V
0t 4 £ Oil Outlet

R BHn iR EE T
83 & Bl ¥ % SPECIFICATION TM3F/ 3CF 7% o | TM-BFW/3CFW Z0CZ: e
e | E8 | EEEE | DEOLE |S86EE| 52 |[THEN ° BiE (RMEIN) Motor(Permanent split capacitor) AC110/220V, 1, 2P, 70W, 50 / 60 Hz
Outlet | Valtage Intermitent Float Capacit Output o
9€ | off time / min switch | ~2P3CY | Pressure e Output volume 0.3/0.36 L/min 50 / 60 Hz
smA-3| 13 [110/220v| 331015 | puorge | FE | 4y | 25kgom ® RRAMLHET] Max. vomit volume 1~10 kgf/cm? 15 / 20 kgf/cm?
EIEH 30,60 option R
B & |22 Voltage 110 / 220V
. . _ " EREA Rated Current 110/ 220V 3A
SMA-6EIEFE SN E R Intermittent Electric Pump & {7Unit: mm ’
T EBE Full capacity 2L (3.4.6.8.10.12)
& S © ENAE Effective capacity 18L (3.4.6.8.10.12)
B> ~F FUNCTION AND FEATURES
He ° AR Detective pressure 5 kgf/cm2 ON 12 kgf/cm2 ON
BRINEENINE » ELELT K EEHBEORESEENRIE - /F e .
. EEMREE  MEEE—SHERER  BREDITHE BRI ] Deterctive pressure 3 kgf/lcm2 OFF 8 kgf/cm2 OFF
BRINHIHE - ESERBAHENTKERKERIILE » B38 o RIS Shield off capacity 176 / 248 VA 110 / 220V
Rig > DELEEMA - BNEEE] » EREmEm -
. . . o RAEEIER Max. shield off current 3A
Intermittent Electric Pump as the theory of that protruding gear to push the
piston through the motor. Supply the oil quantitative regular. It can use in o RAEETE R Max. shield off current AC250V
various machines to cqntrol thg intermittent time and output qgantity. The're‘re o £/)\BBER Min.current through 10UA  E/)\E;BEE Min. voltage throught 10mV
several type for choosing. Saving the energy and ensure the life of machine.
3 E! B k% 3t W] SPECIFICATION
B K% 3t W] SPECIFICATION i
MA-601-5F ™ -3 01 CFW-T2P
T %S Float switch [ ZEBBHE P: Plastic transparent bucket

F'ﬂ%%ﬂ—frf‘ﬁ Interval time s .
*J‘ Power voltage 01:110V, 02:220V # 18 A: Iron bucket
I E Oil Outlet SAEEE Tank Capacity 2:2L, 3:3L, 4:4L, 6:6L, 8:8L

& 11 K% % SPECIFICATIO MR EREEE With pressure-relief installation
PECIFICATION
N — [ ENFERE (A, BHEEEL) With float switch (A, B Contact point)
ER | EIEE | HEOAE |SEHE| 52 | HEHED
VET Intermitent Flozt o - Output — FFREFEHIEIV With timer controller
altage | o time / min ' apacity | pressure e
— EJRER Power voltage 01:110V, 02:220V
3-6 cc 3,5,10,15 D 2
SMA-6 10/220V) =" | @4 or g6 . * | 3.5 kg/lcm? L =272 Di i
55 30,60 option 4.6)¢ g i B A& Discharge volume 300c.c./min

05 — — 06 —
Xl BB M EERAQG YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. | X H B R KRB R AT YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.




il &= &R

OIL SYSTEM

&= B & 5§l Auto System

TMEIEH T /IR BTN E & # Resistant-type / Pressure-relief Lubricant Pump

& AL 5 $22 1 3 ¥ DIRECTION OF POWER DISTRIBUTION CONTROL

T™-3F / 3FW(I) 7S FEED
 EEEEHETEPL S S EHERES Al E)@
T

250V~ 5A
1.3 BFRER S BRERE

~N o s WN =

2.3 FENDHER = fo EE7Ji% 28
4.5 FEFRAEREAB  RATAR0V/0.1A SIGNAL OUTPUT :Z‘?Z:I R IO o
4.6 BIIIRAIERE

7 Bt —@®

Without time controller model cycle movement can be

controlled by PLC digital

1.3 Power contact point

2.3 Manual oil filling contact point

4.5 Float switch contact point,
AorB, max. current 250V/0.1A

| TM-3F / 3FW
 BEEESHNTEPLCESEEFDESE Al E}@
T

250V~ 5A
1.3 BIFER, FBhRFERE

4.6 Pressure detective point
7 Ground connection

~N gk WN =

2.3 FELTHES = Fo /B82S
4.5 FEIFIRIEEAE » RAER200V/0.1A SIGNAL OUTPUT FLOATSWITCH
4.6 BJERNEEL
7 i —®
Without time controller model cycle movement can be
controlled by PLC digital
1.3 Power contact point 4.6 Pressure detective point
2.3 Manual oil filling contact point 7 Ground connection
4.5 Float switch contact point,
AorB, max. current 250V/0.1A .
ACERER
AC POWER SOURCE | 1
TM-3CF / 3CFW =]
st = N —oo0—— 2
I SEEHI R B AR EETIMER T
1.2 ERE L Py emAEy
3.4 EERETBREDES  KAERIA FMR@OUTPUT I——— 4 —¥ ALARM A CONTACT POINT
5 i 5 —0 @
With time controller model has deviced with interval run of TIMER.

1.2 Power contact point
3.4 Under abnormal condition, alarm output contact point, max. current 1A

5. Ground connection

BEFE R H BV E R iE{EsR BE Operation Direction for Model with time controller

RST# — RIDISEEZNEFETM - RST Button  DIS preset by second for manual oil filling.
FEED# — fRFENERTH GEFHE) - FEED Button Manual control oil filling (Stop when hand is released.)
DIS — EERBEIEE  1-99)EMERT - DISButton  Running time touch button, 1-99 seconds free setting.
INTHE — EISSRIMEIER - 1-999EMERE o INTButton  Interval time touch button, 1-99 minutes free setting.

I il = R

OIL SYSTEM

& 1 ¥& 7 SPECIFICATION
ijine EE < {EFREN RIEISRS EiERE
Outlet Valtage | Float switch | Pressure release unit | Pressure applied | Release time | Running time
#Z| TM-301F 110 V o) X
ma | TM-302F | 0.3/0.36 [ 220V 0 X 1-10 PLC ] | PLC £
= 2 ] -
®Z| TM-301CF L/ min 110 V 0 X kgf/cm?2 1-99 min. | 1-99 sec.
® | TM-302CF 220V 0 X
| TM-301FW 110 V 0 0 N
=% [ TM-302FW | 0.3/0.36 | 220V 0 0 15 PLC#R | PLC 24
% [TM-301CFW | L/min | 110V 0 0 kgflcm?
e - i -
= | TM-302CFW 220 V 0 o 199 min. | 1-99 sec.
—

&8 FJl & Yl Auto System
TMEIEH I /IR E T BB & Resistant-type / Pressure-relief Lubricant Pump

2L | o

3L~ 4LIRHR

X EH B R KRB R AT 0

—
‘ YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. ‘

E R st DIMENSION 6L ~ 8L ~ 10L&
W 2L 5\ 28R J B 2L Outside Specification
BE3, ( HERF R HIEY ) (B EEHIE )
Wit hele 73 (Without Time Controll) (With Time Controll)
E?Iﬁﬁiﬂ 121473 EZSEE? aidli. Knob
124 . & Txd 119 Pressure adj. Knob Eﬁ;b . & Txd 119
Wiring hole
1 ?Eﬁ—-” 17
..I gl a gl PT1/4 BT o 3858 —HQ_S gJJWEBI:! wﬁ;&‘l‘
.-Icl)[ill:ﬁlliilg port (LA et =2 Qi filing port Oil outlet port
g g 2 g
: ; SEBI a0
P ?}.‘Egha,ge ot Float switch Oil discharge port
B 3L~12LNEHEEER Y@ 3L~12L Outside Specification
1283, (RSB EEHIEY ) (BREEHIE)
. ~ (Without Time Controll) & ~ (With Time Controll)
\ L w 10 83, |r L w 10
\ Wiring holle
s | (RIBH > '
P u IO Fuse 5SS g/gﬂ?ﬁp 2
= Oil filling port IR e ’FI 3553l le il filing
=] L 5 port
I $6.4x4 Buzze : 6.4 Lo S ‘
; & g = A 118
[ o) faup::] M)
Oil outlet port
. = {
AN / N\ /
3 7% k . PAEC
g—gﬁh Pressure adj. Knob F’?ogﬁs?v%h Pressure adj. Knob
AU3{ Model
T-2L 124 x 40 173 119 250 2 (L)
T-3L 200 x 95 180 130 260 3.10 (L)
T-4L 240 x 110 210 130 260 4.09 (L)
T-6L 320 x 110 280 145 260 6.09 (L)
T-8L 340 x 110 300 180 260 8.10 (L)
T-10L 370 x 110 320 180 260 10.10 (L)
T-12L 390 x 110 350 230 260 12.07 (L)
—/—] —1
| X BB R ZBRXG @ YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD, \



I il &= &R

OIL SYSTEM

=5 iﬂ ﬁ §|] Auto System

TMEIEHT I /IR E T\ BB & Resistant-type / Pressure-relief Lubricant Pump

& I BE ¥ B FUNCTION AND FEATURES

O~ DN -

CEBNEESIARITRNNELGEE  SEeSEMSENTER > IMEEEEDNTERE -

BB HEE - ANEEEAREENGE » ERREER - BIREEEE -

CYIRNERBIRF S RIZHRE » UFEERTERREGFERR - BUNSEEESHETIERZZE » BOAUEERE -
CEAESIRH - BRAEBHR(Pascal)RIE - FEEHANERARES » UgEBRIEMENZRBEBARE -
BB HBEAEE (3~10kg/cm2)iFiE » OEBIRE TR :

* (—) ERRR - BINERNBOAE -
* (Z) HiBEE - AADRREBRBOMEE -
* (D) FEFR  AINBFEEEAR -

* ([0) HERE : AHNSHAE  GENRIRFHEBRDAENER -
* () HRER - HUBERZEETEREL -

. Pressure output is designed with adjustable output structure to meet the demand of various machines and available to couple with

relative pressure adjustment.

. Designed with oil level detector to detect the oil capacity stored in the tank and response well at appropriate time to succeed for

connection movement step.

. Instant knob to have deviced with in-time demand button and lets machine, while at initial start, have the deserved oil capacity for

smooth operation to reduce unnecessary friction.

. Absorbs oil from the deepest part and makes use of principle of Pascal to increase greatly the oil output power as well as to remove

the shortcoming of gap between oil tubes.

. Designed with oil pressure detector (3~10kg/cm?), featured as follows to detect for the loss below:

* (1) Broken oil tube: detecting if insufficient pressure inside the tube.

* (2) Blockaded oil network: detecting if any blockaded on oil inlet for the sake of turbid oil condition.
% (3) Poor motor: detecting if the motor had poor running,
% (4) Insufficient oil pressure: detecting if the output power is insufficient for old used part to result in insufficient pressure condition.
% (5) No oil in the tank: Detecting and alarm output if the oil level than the safe level.

% f#i A1 #t W DIRECTION OF USE

1.
2.

TM-3F » TM-3CFEITJFHPLC BB 8 B N BN 5T I s I B 1B 31 B B AV 2 /) 8B -
FATM-3F ~ 3CFRIF OB S RN DB » VB,DB-A, DB-ASKIEM I\ IZIEPE » (FHBE DO/ E3-5kg/cm?2 » HERER
IREARETZIRZB R » W(HO, #1, #2) » (#1, #2, #3)ERES -

. EHTM-3FW » 3SCFWEINBRBHEBERFIESFERTES BN DEEHA  HBL » HBH » IO BENBAEE » UERE

BB D EDEREE15kg/cm2{ERBDBADERERE » UWRIBRERTIMERRBATIMEREESRKBIRMEREMTE
ERTIMERSH BRI » RZARARBOOWNBELAZIMRENENR » WEARTERREE  BMEERBERRE -

. ERTM-3FW  SCFWEIE S FERFENA D ESRRERENRE » RItAMERNSIUHEEU AR SERRSBRHE »

ZTRERBRAHIIDEE -

- RERMENREAND  EFREVEIEREENSICHMERL  MELBSNHEREREY » RimE20°Ll FHVEIT:ER

20#HOH > MROETE20°LA ERVBITIE A 30#AVELH - MEEARBDHUEBHAE -

. Model TM-3F, TM-3CF, can be available direct output from P.L.C. or direct or indirect from outer timer to control for the running.
. When use of models TM-3F and 3CF, it is available to mate with adjustable distributor, VB, DB-A, DB-AS, As to resistant-type joints of

three types: P type applied can be adjustable at 3-5kg/cmz2. Don't use of varied differences on joints flow specification,
such as: (#0,#1, #2), mating to(#1, #2, #3) will be ideal.

. When use of TM-3FW, 3CFW with pressure-relief structure model, DPI distributors HA, HBL, HBH can be mated for use. Also, they can

be added with pressure detector to feedback and confirm if the pressure of the pipe is compliance with the standard specification
15kg/cm2. When use of pressure detector feedback signal, the TIMER delay must be setup. When detecting TIMER under normal
pressure switch and confirmed, then TIMER delay is actuated at appropriate time. Otherwise, if the detecting failed to reach the preset
pressure within 60 seconds, an alarm signal and power-off must be setup to check for every failure or default.

. Because use of TM-3FW, 3CFW for DPI distributors and the pressure applied is higher, various pipes have to adopt higher-pressure

type of oil pipe for use to develop the maximum function desired.

. Because the temperature of different areas is varied, the user must pay attention to the change of oil viscosity caused by different

temperature degree to replace with appropriate oil and pressure applied. If temperature under 20°, the engine oil #20 is recommended
for use. While for temperature above 20°, then #30 is recommended. Also, the pressure applied also has to be adjusted.

I i &= R

OIL SYSTEM

&8 ¥l & Gl Auto System
YMGPEE )& H Auto Pump (RGN EIF#EE)

FBPLCI=HIEY Controlled by PLC BISEEHIEY With time controller
YMGP-3F YMGP-3CF
BN EBEB ERAEEEHR

Resistant-type Lubricant Pump Resistant-type Lubricant Pump

YMGP-3FW YMGP-3CFW
fREENEBER RENEBER

- Pressure-relief Lubricant Pump Pressure-relief Lubricant Pump

YMGP-3F / 3CF B7Z | YMGP-3FW / 3CFwW RE
° B5iE (RRIETN) Motor(Permanent split capacitor) AC110/ 220V, 1, 2P, 70W, 50 / 60 Hz
"ItHE Output volume 0.3/0.36 50 / 60 Hz
" BRAMHEES] Max. vomit volume 1-10 kgf/cm?2 15 kgf/cm2
" ER Voltage 110/ 220V 50 /60 Hz
¢ ERRER Rated Current 110 / 220V 3A
"EBE Full capacity 2L (3, 4, 6, 8, 10, 12)
" BUEE Effective capacity 1.6L (3, 4, 6, 8, 10, 12)
° @Al 7] Detective pressure 5 kgf/cm2 ON 12 kgf/lcm2 ON
° iR ] Deterctive pressure 3 kgf/lcm2 OFF 8 kgf/cm2 OFF
URETEE Shield off capacity 176 / 248 VA 110 / 220V
o RAEETER Max. shield off current 3A
o RAEETE R Max. shield off current AC250V
o B/NRIBEER Min.current through 10UA /BB ERE Min. voltage throught 10mV

E! LK% %t B SPECIFICATION
YMGP - 301 CFW-T2 P

- ZE AN P: Plastic

i HBA: Iron bucket

S8 E & Tank Capacity 2, 3, 4, 6, 8, 10, 12L
B B2 BZ 55 & With pressure-relief installation
— P ENBERE With float switch
— RFREEEHIBYTN With timer controller

=R E B Power voltage 01:110V, 02:220V

.09 2 —

— B A7t 2 Discharge volume(c.c/min) 3=300cc

— 0 ——




il &= &R

OIL SYSTEM

& B & Fll Auto System
YMGPEIEZEE)EH Auto Pump

& AL ¥ #22 # 3# " DIRECTION OF POWER DISTRIBUTION CONTROL

YMGP-3F / 3FW
I ERIFE TSR (CB) ERERE - (NC.PLC) Connection Diagram
1.3 REIASIE R 1
2.3 (RFETHEE | 2 o) Ty
4.5 (RFENRAR LT T o
6.7 {REETIRAL 5 _gte smien
. . 6 3 Pressure

Without time controller model 7 insection

1.3 Power contact point MAX CURRENT A
2.3 Manual oil filling contact point

4.5 Float switch contact point

6.7 Pressure detective point

YMGP-3CF / 3CFW
1 BEFEEHEE () ERERE - AC Power source
1.2 REAIAEIR
2 . 4 34 FRBHABIEL <,
5 (R — 3] AMXCURRENT
N OU UT; I "
With time controller model 5
GROUND L 1 sE
1.2 Power contact point ) )

3.4 Under abnormal condition, alarm output contact point

5 Ground connection

E=] F"ﬂ}@_ﬁgl FUEMR = EER BB Operation Direction for Model with time controller
RST#H — REKDISTHELWEFETH RST Button  DIS preset by second for manual oil filling.

FEED## — %?iﬂ?’”%”& mEFAE) - FEED Button Manual control oil filling (Stop when hand is released.)
——— DISi# — EEEETEHE  1-00f)EMRT - DIS Button  Running time touch button, 1-99 seconds free setting.
INTSE — BISUSRIEIEs  1-99DE8MEE « INT Button  Interval time touch button, 1-99 minutes free setting.

¢

8

MIBERENRE » EELVBRERENRHETMERNEE -
FIBEISERKE - %EH%&F B -

E] #1 k& 7 SPECIFICATION
SERE | REBRE BE (FREE] | EsRRERE | {FEIRSE
: Pressure . Pressure Release Running
Float switch | rojeage unit | CaPacity applied time time
#ZF| YMGP-301F 110V (e X
m%— 1-10 | PLC ¥l | PLC ¥l
] YMGP-302F | h3/036| 220V O X kgflem?
%’ YMGP-301CF | //min 10V (@) X 23 4L e .
» 1-99 min. | 1-99 sec.
YMGP-302CF 220V O X (6,8.10.12)
K| YMGP-301FW 10V | O 0 o
=5 O 7T 7T
B¢ | yMGP-302FW | 0.3/0.36 | 220V | O 0 15 | PLC#H! | PLC
e . kgf/cmz2
@ [YMGP-301CFW| ¢ /min 110V O O
D .
YMGP-302CFW 20v| 0O 0 1-99min. | 1-99 sec.
—/— —

I il R R

OIL SYSTEM

=5 E“ ﬁ §|] Auto System
YMGPEIEEEH Auto Pump

@
6L ~ 8L ~ 10L#F#&

2L R

& R~} [# DIMENSION
W 2L 5\ 23 tHEE R J B 2L Outside Specification

3L» 4Lfﬁ

(EEpF R EEHIEL ) (B EEHIE)
ﬁﬁgﬁ;m (Without Time Controll) (With Time Controll)
173 ) 173 .
EDEECh 24 B7IREsH
. P dj. Knob
124 o 7x4 119 Pressure adj. Knob \%ﬁglﬁ ‘_\ ! 7xd 19 res.5urea j. Knol
iring hole
1 ?Fﬁw‘f—- 7
Se
I —1 ;—‘,'l , gm =z o5 3] PT1/4
o [a] PT1/4 BEE" |slloocoe . °T1
s I0iB0 [ Buzzer D0 HE0
Qil filling port Oil outlet port - Qil filling port Oil outlet port
g g g .
; a8 10
iﬁﬁl%h ?I;Egharge port Float switch Oil discharge port

W 3L~12LNZ+EFARYE 3L~12L Outside Specification

\ Xl BB R K BRAF o YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

( FEFF R HIEY ) (B EEHIE )
v (Without Time Controll) (With Time Controll)
\ A . . A .
\ L w 10 23, [ L w 10
\ Wiring holle
GED (RIS a I
i H0 Fone soll mso |2
P o . Oil filling port 553? /FI 5 | Dgrtglllng
g : ¢ 6.4x4 L #6.4x4 . 3
L= H
' * - g = ‘A 118
@ 04|'gﬂu%]e1 r( = OiI:;EuE;t port
e {
1] 2 / 1] E /
. - L AL g E . WALk
go?r:ah Pressure adj. Knob F'?oﬁgs?vﬁ:h Pressure adj. Knob
AT Model
T-3L 200 x 95 180 130 260 3.10 (L)
T-4L 240 x 110 210 130 260 4.09 (L)
T-6L 320 x 110 280 145 260 6.09 (L)
T-8L 340 x 110 300 180 260 8.10 (L)
T-10L 370 x 110 320 180 260 10.10 (L)
B T-12L 390 x 110 350 230 260 12.07 (L)
\ X i B BN K EBREARX ST @ YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. \




I il &= R

OIL SYSTEM

& i“ ﬁ §|] Auto System

YMGPEIEFE)EH Auto Pump

E I HE FF Ik FUNCTION AND FEATURES

o b~ 0N~

1.

2.

 BNOHEDINRIANNELERE  NESERSENEXR > IMEEEBEINTEAE -

MBERUEAKE » AXFEBERENEE Eﬁﬂ%ﬁﬁ:lﬁlaﬁﬁ  EEEEEE -
CUEBRENR BRIEREKE - TEMSREBRIEERN > BUAGIREZHETIRIGEE - BOTULSERE -
CRARSRCH  BREH+(Pascal)RIE - BEEHBANERARES » LEEEREBEPERERAVIRE -
B HERAR %(3 10kg/ecm2)$51t » ARBIRIE TAIRK -

* () EREH - AXERBAORE -

* (Z) HIBEE - AIXDRELERRBOMEE -

* (Z)BEAR : XS EEBAR -

* (M) HEARE - AIXZEHAE > GENRARFHEBRDANENBER
* (B)HEEH - RUBRZEEZEREL -

. Pressure output is designed with adjustable output structure to meet the demand of various machines and available to

couple with relative pressure adjustment.

. Designed with oil level detector to detect the oil capacity stored in the tank and response well at appropriate time to

succeed for connection movement step.

. Instant knob to have deviced with in-time demand button and lets machine, while at initial start, have the deserved oil

capacity for smooth operation to reduce unnecessary friction.

. Absorbs oil from the deepest part and makes use of principle of Pascal to increase greatly the oil output power as well

as to remove the shortcoming of gap between oil tubes.

. Designed with oil pressure detector (3~10kg/cm?2), featured as follows to detect for the loss below:

* (1) Broken oil tube: detecting if insufficient pressure inside the tube.

* (2) Blockaded oil network: detecting if any blockaded on oil inlet for the sake of turbid oil condition.

* (3) Poor motor: detecting if the motor had poor running,

* (4) Insufficient oil pressure: detecting if the output power is insufficient for old used part to result in insufficient
pressure condition.

* (5) No oil in the tank: Detecting and alarm output if the oil level than the safe level.

% {# A #' B DIRECTION OF USE

YMGP-3F * YMGP-3CFR O HPLCE & L3V AN HET e B s BB Ay 5] & -
{FAYMGP-3F  3SCFRUF I I SR\ DE8s - VB,DB-A, DB- ASE?EHJVQE”EP&  FEBHTHARES-5kg/cm? » BIERE
IRRERERETZEDBA > W(#HO, #1, #2) » (#1, #2, #3)ERES -

. {FEYMGP-3FW 3CFWF'J|!11EH%I_%I¢§FUH§TEEm@}ﬂ*E‘W STV DEESHA ~ HBL ~ HBH » WOk BB AEIEE - DIFER

EREBNREERRE15kg/cm2ERRE RN EERSRE » WEERTERTIMERRIGETIMEREEEKE NFHBAERRMSE
ERTIMERSHERAIRE » RZARARKBOVNEAZIMRENENR » WERTEERRES  BMEEIEERE -

. EEBYMGP-3FW » 3SCFWRESERFBEN I ESRRERENRS » AUtAMERNSIVAE U EESERRSEBRBE »

THERERAMIDEE -
RERMERRERR » EREVRIERREMEZHIERE MERESHRERERET » RRE20°U THIRITER
20#H9KOH > MIRUETE20° LA ERVBITE A 30#RV M » MEERMBNHUESHRE -

. Model YMGP-3F, YMGP-3CF, can be available direct output from P.L.C. or direct or indirect from outer timer to control for the running.
. When use of models YMGP-3F and 3CF, it is available to mate with adjustable distributor, VB, DB-A, DB-AS, As to resistant-type joints

of three types: P type applied can be adjustable at 3-5kg/cm2. Don't use of varied differences on joints flow specification,
such as: (#0,#1, #2), mating to(#1, #2, #3) will be ideal.

. When use of YMGP-3FW, 3CFW with pressure-relief structure model, DPI distributors HA, HBL, HBH can be mated for use. Also, they

can be added with pressure detector to feedback and confirm if the pressure of the pipe is compliance with the standard specification
15kg/cm2. When use of pressure detector feedback signal, the TIMER delay must be setup. When detecting TIMER under normal
pressure switch and confirmed, then TIMER delay is actuated at appropriate time. Otherwise, if the detecting failed to reach the preset
pressure within 60 seconds, an alarm signal and power-off must be setup to check for every failure or default.

. Because use of YMGP-3FW, 3CFW for DPI distributors and the pressure applied is higher, various pipes have to adopt

higher-pressure type of oil pipe for use to develop the maximum function desired.

. Because the temperature of different areas is varied, the user must pay attention to the change of oil viscosity caused by different

temperature degree to replace with appropriate oil and pressure applied. If temperature under 20°, the engine oil #20 is recommended
for use. While for temperature above 20°, then #30 is recommended. Also, the pressure applied also has to be adjusted.

I il &= R

OIL SYSTEM

<

& E“ ﬁ §|] Auto System
MF E B!/} & 58 BY B8 2 J# Digital Lubricator

FBPLCI=HEY Controlled by PLC BISRI=HIEY With time controller
MFE-3F MFE-3CF

BERVEEEE ' BERVEEEE

Resistant-type Lubricant Pump Resistant-type Lubricant Pump
MFE-3FW MFE-3CFW

AR R 3\, F 8 B A AR B 3\, F R B A

Pressure-relief Lubricant Pump Pressure-relief Lubricant Pump

MFE-3F / 3CF MFE-3FW / 3CFW
© BiE (BN Motor(shield type) AC110 /220 V, 1, 2P, 70W, 50 / 60 Hz
“mHE Output volume 0.3/0.36 L/min 50 / 60 Hz
" R AMHEET] Max. vomit volume 1-10 kgf/cm? 20 kgf/cm?

" ER Voltage 110 / 220V 50 / 60 Hz

° EREAM Rated Current 110 / 220V 3A

"EBE Full capacity 2L (3. 4.6.8.10. 12) (OPT)

" BuE=E Effective capacity 1.8L (3. 4.6.8.10. 12)

° R Detective pressure 5 kgf/cm? ON 20 kgf/cm? ON
° R Deterctive pressure 3 kgf/lcm? OFF 15 kgf/cm? OFF
v EEISE Shield off capacity 176 /248 VA 110/ 220V

° RAEENER Max. shield off current 3A

° RAEEIE R Max. shield off current AC250V

o B/N\@EBEAR Min.current through 10UA ®R/NVBBERE  Min. voltage throught 10mV

E!iﬂ ¥% &t Wl SPECIFICATION
MFE-3 01 CFW-T2P

- EHEHE P: Plastic
# % A: Iron bucket

SHEZEE Tank Capacity 2:2L, 3:3L, 4:4L, 6:6L, 8:8L, 10:10L, 12:12L
MIRRERSERE With pressure-relief installation
— KIS ENEERE (A, BIEEL) With float switch (A, B Contact point)
— RFREIEEHI RIS With timer controller
=R =B Power voltage 01:110V, 02:220V

— B Kt 2 Discharge volume 300c.c./min

= @ =




il &= &R

OIL SYSTEM

&8 FJl & Yll Auto System

MF E B!/} &2 58 7 BY B8 & J# Digital Lubricator

% AL ¥ $22 # 3 ¥ DIRECTION OF POWER DISTRIBUTION CONTROL

MFE-3F/3FW

" ARG R R R 10
1.2 FRFETHEE AC POWER 260 \@
13 FEAER rlncl, = | /
4.5 {RFENFERA. A or BEEEL - RAEAR260V/0.1A s
4.6 (R, NORER: » BATA2500/0. 1A o | Femm
4.7 FREEJREAN, NCHERL » &RAER250V/0.1A 5

EALyyl

8 i NO— 6 _OT P%Ejs:QJRE é\?ﬁTCH
Without time controller model Ne —] 7 —alc
1.3 Manual oil filling contact point @ 8

2.3 Power contact point

4.5 Float switch contact point, AorB, max. current 250/0.1A
4.6 Pressure detective point, NO, max. current 250/0.1A
4.7 Pressure detective point, NC, max. current 250/0.1A

8 Ground connection

MFE-3CF/3CFW ACERIER
. . _ AC POWER SOURCE[ 1
I ARG SRERERE - BT
1.2 REASR T —oo— 2
3.4 REMAEIHEL - RAEARIA - 3 ERALZLS
5 fRiEH Eﬁﬁuﬁwmr—— 4 —2 ALARM A CONTACT POINT
With time controller model 5— @

1.2 Power contact point
3.4 Under abnormal condition, alarm output contact point, max.current 1A
5 Ground connection

B IEH| B E R i EsR B8 Operation Direction for Model with time controller

RSTH — RIDISREZWEFETH - RST Button ~ DIS preset by second for manual oil filling.

FEED# — R EF#TH G - FEED Button Manual control oil filling (Stop when hand is released.)
DISHE — ZERRBIEE  1-09FEMERT - DISButton  Running time touch button, 1-99 seconds free setting.
— INTSE — BSENSRIEIEE » 1-99DE8MRE - INTButton  Interval time touch button, 1-99 minutes free setting.

I il R R

OIL SYSTEM

A
DA 51 % 7 spECIFICATION
ERR SERERE | REBEE | FEREED = ROEREFRD | {FEDRSFRT
Valt Float switch Pressure Pressure C it Release Running
altage oat sWitch | yejease unit |  applied apacity time time
iy g MFE-301F 110V (@] X s -
e 1-10 PLC £l | PLC £l
= % MFE-302F 0370236 220V g X kgflcm?
< | MFE-301CF i 10V X e
3 L/min T# 13,4,6,8, | 199 min. | 1-99 sec.
MFE-302CF 220V O X
10,12 L
R g MFE-301FW 10V O (@] s -
e s PLC #4 | PLC
22| MFE302FW [03/0.36] 220V 0 0 25 = -
3 | MFE-301CFW | L/min | 110V 0 0 kgficm?
o, 1-99 min. | 1-99 sec.
MFE-302CFW 220V (@) (@)
\ X B B R K BR AT 0 YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

=5 §|| ﬁ §|] Auto System

L
E. I} DIMENSION

W 2L %23 1HEER Y & 2L Outside Specification

MF E 2% f2 58 BY 8 /8 & )8 Digital Lubricator

[ ] i
6L ~ 8L ~ 10L#F#&

— (ERFREEEHIE) (BRI EEHIE )
Wiring hole (Without Time Controll) (With Time Controll)
E BT 7R
124 ¢ 7xa Pressure adj. Knob \%ﬁglﬁ OQ\ - o 7x4 119 Pressure adj. Knob
L =
1 gmﬁ/ I
11— 5[l , §I
e a PT1/4 iR ] PT1/4
00 HB0 B apiclm
Qil filing port Oil outlet port Qil filling port Oil outlet port
: Ta898 B0
gmgiﬁ%h ﬁ}ﬁgha,ge port Float switch Oilfdischarge port
B 3L~12LNERfERER 3 3L~12L Outside Specification
— [ 4B RO PR BY ) (BRI
Wiidg hole (Without Time Controll) (With Time Controll)
\ L W10 | e [F w 0
\ Wiring holle
== RIS >
P . /JJU:‘EBD g/gul;ﬁm e
= Qil filing port &mgg il le il filling
0 g F port
! S, $6.4x4 e . #6.4x4 S

&

S EBAR

Float switch

im0

B
Oil outlet

LAk 335

Pressure adj. Knob

Q]

fu s}
Qil outlet port

L iPAFLL o

Pressure adj. Knob

HREEE
Tank Capacity
T-3L 200 x 95 180 130 260 3.10 (L)
T-4L 240 x 110 210 130 260 4.09 (L)
T-6L 320 x 110 280 145 260 6.09 (L)
T-8L 340 x 110 300 180 260 8.10 (L)
T-10L 370 x 110 320 180 260 10.10 (L)
T-12L 390 x 110 350 230 260 12.07 (L)
ﬁ X OH BB & B R =l o YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD, h




I il &= R I il &= R

OIL SYSTEM OIL SYSTEM
| [ |
&8 E)l & Gl Auto System & ] E2 i & Gl Auto Pump System L MSEEHIRESlE
MF E;__:,F!;ﬁ Ae B8 B IFﬂ /'E' jiﬁ Digital Lubricator 1. AT A 2 B EEEA - @R EEEREG -
2. ZREFF - F—ERARBAETRER  LIBIBRERS -
& 3. ERNE B . UREZS -

Y HE #§F &k FUNCTION AND FEATURES 4. SEFENEE - FHUEBEEEEE  URRBWEEHE -
1. BN@RESARITANNGELEE  SEIERBOEKR > IMEEYEDNTLERE - 5. HIFBRBMAKT - UWRBINER  EHFRENBEMR -
2. fiIBEHUEREE - AXREBRERHNGSE > BRRERR  EEEEEF - 6. AN EHEENSEE AN - NEEMY)EER - LIEWE -
3. UBMSRENR FBRIEBRE » TERBEARBERR  EUNSIBEHETIRIEES - BOTDNEEE - 7. MERZZHERIE > BiKEREK > LEEL -
4. FARBEKH > BAEH R (Pascal)RIE » BHHANERARES » LEBKRIEHEHNZRERAVERE - 8. FMERBIEE -
5. R B HE G K & (3~10kg/cm?) R it - THRAIRIE TIIIREX 1. The power source input into the machine must comply with the specification and power required shown on the machine.

* (D) BERRR  AFEREBIARE - 2. When installation, please follow the direction of use to connect the wire to avoid controller being damaged.

* (Z) midEE DR R B R MEE - 3. Be sure to connect the ground connection for safety purpose.

* () FEAR : AT EEBIR - 4. When filling the oil into oil tank, be sure to get through the filter net to ensure no impurities to block the oil passage.

* ([ HEAR  AIEHAE  BEEARSHER DA EFR - 5. If found any impurities in the filter, then clean and remove it away immediately to keep well the filtering effect.

* (O)AEEE  AUBRZEESTEREL - 6. The control circuit inside the machine shall not be allowed to dip in and stain with oil or water, or to contact to other objects
1. Pressure output is designed with adjustable output structure to meet the demand of various machines and available to couple with resulting in malfunction.

relative pressure adjustment. 7. When filling the oil into the tank, please follow the instruction shown to avoid overflowing.
2. Designed with oil level detector to detect the oil capacity stored in the tank and response well at appropriate time to succeed for 8. Keep no impact against machine.

connection movement step.
3. Instant knob to have deviced with in-time demand button and lets machine, while at initial start, have the deserved oil capacity for
smooth operation to reduce unnecessary friction. == i“ $ §|] Auto S |_ o L ]
4. Absorbs oil from the deepest part and makes use of principle of Pascal to increase greatly the oil output power as well as to remove = m uto System B8 ZA0g — EHIN Resistant-type
the shortcoming of gap between oil tubes.
5. Designed with oil pressure detector (3~10kg/cm?), featured as follows to detect for the loss below:
% (1) Broken oil tube: detecting if insufficient pressure inside the tube.
% (2) Blockaded oil network: detecting if any blockaded on oil inlet for the sake of turbid oil condition.

JE 258 Connector E5{7Unit: mm

* (3) Poor motor: detecting if the motor had poor running, ““__
% (4) Insufficient oil pressure: detecting if the output power is insufficient for old used part to result in insufficient pressure condition. JD2-4 M8x1.0
% (5) No oil in the tank: Detecting and alarm output if the oil level than the safe level. JD2-6 96 6.5 13 28 M10x1.0

% f# FH & B DIRECTION OF USE

1. MFE-3F ~ 3CFRITJHPLCE & SN A5 05t Fres R B ok B B A 62 -

2. {EFMFE-3F » 3ICFEUIFOEL S AR N DECES » VA,VB,DB-A, DB- ASEZ}RM_W%“ESE\PE\C*J_E ERBDIURARR
3-5kg/icm? » BEARERJERREIZWDBA » W(#HO, #1, #2) » (#1, #2, #3)ERES -

3. fFAMFE-3FW ~ 3CFWEII B BB R IR SFERTESEN D3 HA ~ HBL HBH’ﬂI—JiEE’iJ_ﬂT HEEE - YERE
BENREEREE25kg/cmEHE N BAEEE R - UWEERERTIMERREATIMEREERRKENFHMEREMTEIE

BE {{7Unit: mm

----m--

FTIMERETRPBRIVIRE » RZEERRKBeONMAEEEIMBTHNENR » WERTERNEE MBS RIBAHL - PKD-4 M8x1.0
4. FBTM-3FW ~ SCFWRESFERSEITERBAFERNRS » ALMERANSIVAEHNERSFERSBENE - PKD-6 ze 14 30 15 9.2 6.5 M10x1.0 14
ABe B R ANIINAL PKD-8 28 18 | 40 20 | 120 | 65 | M14x15 | 18
5 RERMENREEAR  FRSUVEIRRBEMBEREEZ  MERBESWHERERED » RIBT20° THEITER PKD-10 210 20 | 45 | 225 | 135 | 65 | M16x1.5 | 20

20#RVHOH - MRIRE20°LA EMRITEA30#MHH > MERNEBIHUEEHMRAE -

1. Model MFE-3F, MFE-3CF, can be available direct output from P.L.C. or direct or indirect from outer timer to control for the running.

2. When use of models MFE-3F and 3CF, it is available to mate with adjustable distributor, VA, VB, DB-A, DB-AS As to resistant-type
joints of three types: S type, P type and C type applied can be adjustable at 3-5kg/cm2. Don't use of varied differences on joints flow IE :ﬁ FOUI’ S|des Tu be ESf7Unit: mm
specification, such as: (#0,#1, #2), mating to(#1, #2, #3) will be ideal.

3. When use of MFE-3FW, 3CFW with pressure-relief structure model, DPI distributors HA, HBL, HBH can be mated for use. Also, they
can be added with pressure detector to feedback and confirm if the pressure of the pipe is compliance with the standard specification
25kg/cm2. When use of pressure detector feedback signal, the TIMER delay must be setup. When detecting TIMER under normal
pressure switch and confirmed, then TIMER delay is actuated at appropriate time. Otherwise, if the detecting failed to reach the
preset pressure within 60 seconds, an alarm signal and power-off must be setup to check for every failure or default.

4. Because use of MFE-3FW, 3CFW for DPI distributors and the pressure applied is higher, various pipes have to adopt higher-pressure
type of oil pipe for use to develop the maximum function desired.

5. Because the temperature of different areas is varied, the user must pay attention to the change of oil viscosity caused by different
temperature degree to replace with appropriate oil and pressure applied. If temperature under 20°, the engine oil #20 is
recommended for use. While for temperature above 20°, then #30 is recommended. Also, the pressure applied also has to be

- adjusted.

-“--_

PJD-404 M8x1.0
PJD-406 06 14 6.5 28 M10x1.0 14

= < — — s




il &= &R I il &= R

OIL SYSTEM OIL SYSTEM
| [ |
(= 5] = =]
FERI Avtosystem L_fp =8 7 F B1 88 — BT Resistant-type BHRIL 8. 27ARE — BN Resistant-type
2 2 22 Distributor &(Unit: mm DB 7 g 28 Adjustable Distributor E{iUnit
HEE
’4% FIZX, Model EBEO A B G % Joigt Vomigng _oil Y
number number VISCOSI
DB-4 4 48 36 16 M 9 &3 & DB4A 4 2 48 | 36
e p— DB-5 5 64 52 32 i !
: 08-S > o 2 2 i ﬁ m DB5A | 5 3 | 6452
DB6A 6 4 80 | 68
DB-7 7 96 84 64
DB-9 9 128 116 96 i 30 gggﬁ g s 1;2 132 (PC-4) | (PD-601)| kg/cm?2 cst
DB-10 10 144 132 112 .
DB-12 12 176 164 144 ‘ 7_ DB10A| 10 § 1441132
A 15 DB1MA| 11 9 160|148
| >| DB12A| 12 10 176|164

EEALE ERET] | HEE

Joint Vomiting goiibore Pressure (e]]]

number [ number viscosity

‘3 B2 28 Distributor ESfiZUnit: mm DB4AS| 4 2 |48]36
DBSAS| 5 3 |64]52
c DB6AS| 6 4 8068
AU Model BIEOH A B c T J C DB7AS| 7 5 |96]84]|M81.0 | M10x1.0{ 1~15 | 10~500
mes S = DA-6 6 48 36 16 30 DBBAS| 8 6 11121100] (pc4) | (PD-601)| kglem? |  cst
ﬂs"ﬁ ﬁ ﬁ DA% 3 64 52 32 > DBYAS| 9 7 |128[116
5 ) . DA-10 10 80 68 45 - = ,  DB10AS| 10 8 144132
e “ﬁw-:-"—' "'"“1 T o 96 B4 Py |‘\‘\“_" 71 : DBHAS| 11 9 [160[148
i i ﬂiﬁ- ) CAts » 12 100 - A DB12as| 12 | 10 [176]164
DA-16 16 128 116 96
B DA-18 18 144 132 112

VB-8 5 B - 7 HEME
Joint Vomiting Qil
= ) } = number | number viscosity
— . — P IS S VB4 | 4 2 |48]36
£t 5 o3 Bic = 5l 88 P>« >« B! Ratio Distributor Controller P ¢ Type HRR a VB5 | 5 | 3 [64]5
o VB6 6 4 80 | 68
® VB7 7 5 96 | 84 | M8x1.0 | M10x1.0{ 1~15 | 10~500
P B AT . .
27 255 25.5 23 69 ) ’5‘ RO 3 VBs s s T2 100
10, , 10 10 8 8 10 8, . 8 VB9 5 = Tog11g] (PC-4) |(PD-601)| kglem? | cst
1 I 1 |
- B | VB10| 10 8 |144]132
. w ' A ' VB11 | 11 9 [160[148
M8x1.0,/ \_M8x1.0 M8x1.0,/ N\ PT1/8 PT1/8 / \ M8x1.0 otis /. \ PT1/8 o ) VB12~ 12 10 . 176|164
10HEX / 10HEX 10HEX 10HEX / TM-3F; TM-3CFEC SLE R IV1Z0E - AR N DS fic E R 8
RETSH FIowdirection= PSS MEDD FIowdirection= PST AL E T30 Flow direction= PTS REDD FIowdirection= PIT 'xlatlng ratio type joint & Adjustable distributor ;;;rlbutlon ;;;;;;n N
111 TTIlnd
_ PSS | PST | PTS | PTT 1. SRR EE
D¥EEIR  Category No. 000 |1]2|3|]4]|5 Mating ratio type Joint
REBEE  Flow ratio 05/2 |4 |8 |16 32|64 :zé-_PSST_-PTS'PTr
SEEIE  Joint b M8 x 1.0 M8 x 1.0 PT 1/8 PT 1/8
SR SOMEore M8 x 1.0 PT 1/8 M8 x 1.0 PT 1/8 st s
BN i -~ 2. 50TET i
B/ Pr.es.sure .applled 15~ 20kg/em? Adjustable distributor DB-8A
{EFMEAE Oil viscosity 20 ~ 500cst VB-(4~12)
DB-(4A~12A)
DB-(4AS~12AS)
DB-TAS
\ J




il &= &R

OIL SYSTEM

BHRIIL B8 ZR 0 g — REN Pressure-relief
HBLE £ &f& 1\ D EC 28 Positive Displacement Injector System Distributor

3 ¥ 7% SPECIFICATION

GTIES
Model

Mt g
Vomiting number | 1234|567 |1/2/3/4]5 67

e
i 0.03, 0.06, 0.10,0.16 | 0.1,0.2,0.3,0.4,0.5

S {E(F8)E ) 5 5

Minimum performance pressure

A |23 3? 511 626 811 916 1111 39| 5166 |81 9? 1111
RY 4358|7388 103|118 4358|7388 103|118

I il = R

OIL SYSTEM

BRI sesmEasy— nEs
M E £ /A Oil-Valve

MO
& # 1% ¥t B] SPECIFICATION

MO - 05

Lﬂiﬁﬁ

Discharge volume: 0.05c.c ~ 0.25¢cc

% YE @) [&] STEP 1~3

Size mm
B [35|50|65|85|85(115(130/35 |50 |65 | 85| 85 (115130

B REHH  BEREWRE DR L - HISIIFRLIETRE - HEWDRA

2 HERRERA  EORELS  SPEEREREE  FIRHEEE - \I\ a4
H3 FHES  SERNREMBREENNEN TR  BROEESNED AN, A Al
| oy

SRR
S
SN

SRR

B AV A LLERERREERRD - EERRVASEELRAME -

b

" — "-m/ )

oil flows into initially.
Fig.2 Pump's pressure keeps the oil rising up to force the piston spring move backward and all volume
continues to flow into oil storage tank. Simultanevusly , the oil storage will gather untill it is completed.
Fig.3 Pump stops to run and instant pressure-reller results in rapid pressure descending from main pipe
to force the spring insude oil valve to blockade the return access port and therefore output the oil
stored inside the oil tank.

2
Ml
Fig.1 Pump pressurizes supply the oil , and from main pipe to deliver the oil to all of the distributors. % 'j,.; / g 7k Z
When oil pressure is rising, open the passage of umbrella check-valve by compression , then the 4I"7 'I? v Z
p g, op passag y comp % é Z ? 7
7 Z
/

RN

AT

mﬁh\\\\\

& 1 ¥ 35 B SPECIFICATION Fig. 1 Fig. 2 Fig. 3
HBL - 1(0.3cc)

It 52 Discharge volume: 0.1c.c ~ 0.5¢cc
It £ 28 Vomiting number: 1~7

I He % & FUNCTION AND FEATURES

1. PERMTEEREEN » IRBEBEENA/NEZEHE - 1. The divider spits the output to pick the quota type, may depend
2. ITHHEEIFEES kglem2 o on the lubricant size hypothesis oil mass.
3. EEARESD - 2. Puts out pressure stable 5 kg/cm? .
4 FESBER « SIE « B/ - TSty - 3. The use oil qualit.y is'widespread. . . .
BB BFER - 4. Not bfecause (?f pipeline length, height, resistance S|z§, bl.Jt affects
supplies the oil, and produces flows backwards the situation.
4 )\

At

]

=y
HBL-3

MFE-2FW; MFE-2CFW
RecesutsRsRERy W
Mating PDI (Positive Displacement
Injector System)distributor

HBL-2 HBL-2 HBL-5S

— L 21 ——
X B B BN K EBREARX T YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

& IR ¥% 2 SPECIFICATION
DischE:[gewdi;mount R
MO-05 | 0.05cc 45 54 | M8*1.0 | PT1/8 | 05
MO-10 | 0.10cc 45 54 | M8*1.0 | PT1/8 | 10
MO-15 0.15cc 45 54 M8*1.0 | PT1/8 15
MO-20 | 0.20cc 45 54 | M8*1.0 | PT1/8 | 20
MO-25 0.25cc 45 54 M8*1.0 | PT1/8 25

o {FENEET] : 1.0 MPa
o [E{EET] : 0.3 MPa

#HE 2 151\ A 2% Oil Positive Displancement Injector System Distributor

& # k% &5t W] SPECIFICATION

MOD - 2-05
T—Diﬁ%
Discharge volume: 0.05c.c ~ 0.25cc
ITHEOE
| Vomiting number: 2~10
& 1 ¥& 3¢ SPECIFICATION
Infan]E- It
Number of port Discharged amount
MOD-2 2 48 36 M10*1.0
MOD-3 3 64 52 M10*1.0
0.05
MOD-4 4 80 68 M10*1.0
0.10
MOD-5 5 96 84 M10*1.0 015
MOD-6 6 112 100 M10*1.0 0.20
MOD-7 7 128 116 M10*1.0 0.25
MOD-8 8 144 132 M10*1.0
MOD-10 10 176 164 M10*1.0
X B B R K BR AT YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.




il &= &R I il &= R

OIL SYSTEM OIL SYSTEM

SHRIL BB Zn0leE — IREX Pressure-relief L 8l 7% 91 Air System

ASKZEIZEER T E M Air Type Engine Oil

FSSE=;EF9 Quantitative Valve

FSS
a ASK-SFW
) ¢ %% J& FUNCTION AND FEATURES @ - & e
SRR  FESEEREN - 4 () TR = Pressure-relief ) E ¥ & FUNCTION AND FEATURES
EEREEEEAYEE - j_' }_‘/ (-A 1. TENSBIESS - IREESIFENEH -
A certain joint is activated by piston valve according to the hydraulic . ) 2. BESARIRELTH
pump, and by means of oil quantitative to deliver the each joint of ' .0 EES MR ES DECESIM-ARY - ERIE A0 -
lubricating station. 4. O {FIERL T\ EKIEE Mg AT -

1. Receiving sign from exterior, working synchronization and fast
2. Suits in high-frequency and supply oil fast.

1 3. It's using in lubrication cooling, and cooperate with quantitative oil-gas mix
B. R L QUANTITATIVE JOINT STARTING PRINCIPLE distributor ype DM-A
A ﬁ? ;LE E"J = ij] ,ﬁ ﬁ% 4. Using for two ways: oil-mist and Injection.
=]
% I
ASK-SF ASK-SFW
-l-l-. ° EHEEL Pump compress rate 1: 5(ZEREN)
® ° —XRE#EITHE Output volume 8 cc
o = 5
{ SITHE4EE  Max. output frequenc A2 F6E (35¢St~2000cSt) 30~128/F D i
1. M%’/ﬁéﬁiﬁ'ﬁﬂ ’,E_jjt?'l' o '_J p q Y 1 E RHIZ. ( Cc C ) [ s i)
2. EE W ELHE > BERE - SRARER G RHEH L - M O /RFS > SmEL - " ERBZEE  Oil viscosity 10~2000 (cSt)
3EERED R BRERGIHHEFEENELE T ﬁﬁ)i%iﬂﬂjcr% ° N o oo BRI AIZE R 4 kgflom? 0.27 NI/g—ZRItH:
4. EHELR SIS BERBIENE - BEANRBRN—RE - E2EE M) RLGHEE B) - SIS TR » _ )
B (A EENERR - SHEINBRRAESR - Air Pressure & consume 5 kgf/em? 0.30 NI/g—RPLiH
S EEAERXEOIER - EE LS BB FNTR - BEI T — RO HEN FHEETR, - o mEe Oy @B Total output quantity: 6 cc
1. Starts from pump ascending, the pressure is increased. (fFF30.5ccRRFaI it 45 12fEIE2h) (Suply 12 ports for each 0.5¢cc)
2. Push piston (A) move upward, and compress the spring, and then original stored oil volume (B) can be pushed e _ . B
upward. Then, open valve (C) to force oil up. o SHFEE= (L) Oil tank capacity fZ=#¥ENormal: 2, #EFTSelect: 3,4, 6, 8
3. Press piston to (D), and the oil stored can be output quantitatively to complete the process of oil supply. o ERENER Solenoid type =M ERiRThree ways solenoid ZEEVoltage : AC110V, AC220V
4. When pump stops, gradually the pressure is lower down to make pressure inside pipes decreased. Then, the —
quantitative piston (A) and upper spring (B) will be slowly descended. At the same time, piston (A) will be returned o FIKFEE Float switch A, BIEZh
back again to perform the oil supply under pressurizing. EXERAZEAC, DC 200V
5. After piston works to return back normally, the oil metering on upper of the piston also completes the oil supply ez HEHIER0.5AA
process. As a result, the next cycle of oil supply is ready to go. e

B SEEIRESEIEEIEAVERRE0.03 ~ 0.06 ~ 0.08 ~ 0.10P07E » CIEZESE(ERNESHER -

Non-fixed type quantitative joint--There are four types: 0.03, 0.06, 0.08 & 0.10 available for optional & 2 H
use or assembly purpose. Bl 1% 3 B SPECIFICATION

ASK - 8 01 FW-T2 P

FSS FST FTS FTT L 5 ZEBAME P: Plastic transparent bucket
D¥BESR  Category No. 03 06 08 10 #= 8 A: Aluminum bucket
piy=in Flow ratio 0.03 0.06 0.08 0.10 N e . ] ' . .
10x1.0 10x1.0 PT 1/8 PT 1/8 JHHEE 8 Tank Capacity 2:2L, 3:3L, 4:4L, 6:6L, 8:8L
10x 1.0 PT 1/8 10x1.0 PT 1/8 MR ERZEE With pressure-relief installation
EFBERT) _Pressure applied 9= 2 e — S ENFERE (A, B#EEEL) With float switch (A, B Contact point)
{EEFAZLE Oil viscosity 20 ~ 500cst
— EIRER Power voltage 01:110V, 02:220V, 24: DC24V

— N [B#ENT HE Discharge volume 8c.c./min

> — — > —



i i &= &R

OIL SYSTEM

7 E) & Gl Air system

ASKZEIZEEER T ;XA Air Type Engine Oil

A
A K [E pIMENSION
B 2LNEHRER T B

2L Outside Specification

B 3L, 4L, 6L, SLAZMERAR T E

3L, 4L, 6L, 8L Outside Specification

= il & R
GREASE SYSTEM
|

115
St
0

(IESHT]
Spout type

(IEmFEN ]
Misty type

(IEAN]
Spout type

(EHFEDN]
Misty type

35 E“ ﬁ §|] Hand System
SKF )& M3 M # Manual type Engine Grease

SK-224-T0S8 SK-224-T04
& yh ¥& BC & [@] OlL WAY DISPOSED

@
ﬂ) 1

3
O—t® OO
O—t0 O—0

A4
o (THOZHER) .
L 2N 51 1% ¥ sPecIFICATION
- BN | EE| tEE | F8 | HEEN | SR | BABEO R size mm
. . Output Grease
Model Oil Outlet Capacity it Max.
AT Model SEIEZE Tank Capacity Pressure distributor
T-3L 200 x 95 220 130 230 3.10 (L) SK-224-T03 300CC 290 150 70
T-4L 240 x 110 260 130 245 4.09 (L) sk-224To4| 20 | 281 400cc | 100 kleme ﬁ:ﬁs,%agg 60 [ 310 205 9
Grease | STORK =HD

T-6L 320 x 110 340 145 245 6.09 (L) — 5000
T-8L 340 x 110 360 180 245 8.10 (L) SK-224-T08 310 205 90

i
i C & [ OoIL WAY DISPOSED & B ks 2
D. KA % {E 3 Bl OPERATION INSTRUCTIONS

R R ERERIFERR - MEEESER TE » (DI NSRRI - IRERRREINRZBET] - EHBRIRALEAHE -
b REBIRIFE > BEEANHITANSEHZTERL » #HERITE ORI - IHEERE -
__%r_;; {IF MNEE|—ER (100kgicm?) ALK » [FEUEPIEIEE) - S HEELHE - RIFEUEEEATHE - BERILIEER
' *L;Tlif’liﬁfﬂiﬂ““? B GHa28EHE L ILRHE -
Py Jﬁ j[ lf When move the operation rod , the plunger ( iron core ) will be moved simultaneously so as to make cylinder become under negative
| pressure . Then , due to closed air pressure of the plank , the grease will get into the cylinder from the suction port . Now , operate the
operating rod to extrude out the grease through pipe in the cylinder by principle of the plunger pushing open the specific pressure of

100kg/cm? , down pressure valve will start to eturn the grease to the oil tank . The operation rod is to use of a spring to link on the
injector as a round storage tank to prevent from oil leaking.

Uiﬂj[]%ﬂ MHE RT‘T Size mm

L4
Number of port Discharged amount A B m 1% %l!-l ADVANTAGES

1. RFHINIDE - RASEELI > BEDEE—BRDRS - BRENEE - JESREINR -

2. A HEENRERREE - wHEE - BT SEIRHNBLMSRRER -

3. BFRENUSE IEITH - SHOEYIRAPTELAVRIRE -

1. Manual type pump . Use of single pipe , so no need of pipe return device . With simple piping for best effect .

2. Has smooth stickness to the lubricating surface with proper oiling capacity , so no surplus oil will be leaked out to
stain with the surface of bench .

3. No need to worry about the dirts & impurities entered into the oiling port, so it is more clean than other ways of
lubrication.

- 25 4 T ] - 26 4 T
X BB M EEBERAQIT YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. \ X BB M EERAQG YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.




= il & R
GREASE SYSTEM
|

B [EZ T\ i B B B % #5 Pressure Relief Grease Lubrication System

MSK-10 EEIREINZHEE Pressure Relief Grease Pump

il &= &R

GREASE SYSTEM

B [EZ I\ i B i B & $5 Pressure Relief Grease Lubrication System

MSK-10 £ E = HEE Pressure Relief Grease Pump

- YTCB-2, 25

POWER 45
hal R "
! FUSE "o 9\°
149.5 = BISes g : ’
- BUZZER 1,2 || ®WEIEH T Power output type
g 2 12 BHEER
& " RATIER sonma
.30 _ } Power source adapter ! Not o be used VL
—— 2 BRAN 5 @RISR AERL
& @ @ © ® ‘?I 2 Power source e Sf:ngori:g sign (A)point Bt 23
| 2 3.4 BRAEREL PRESSURE
o] 1] loll 1Y & 8 Alarm output i SENSOR
N iy m— = & 5 it =
S Ground -
@ 2345 56 ) g
3015 _R-VEW { Y E] -
{ - ! 11213 a5
Bl ¥ ¢ SPECIFICATION el
2 5 i & EE | BEVX | HESE | BALLEND 3E1 B 6 AEM aH
Model Flow Valtage Power Oil tank Capacity | Maximun Output Pressure Oil viscosity DISTRIBUTING VALVE (RH-5)
MSK-101FW | 200cc/MIN 110V 60W 700cc 50KG/CM? 00#, 000#
MSK-102FW | 200cc/MIN 220V 60W 700cc 50KG/CM? 00#, 000#
MSK-124FW | 200cc/MIN DC-24V 60W 700cc 50KG/CM? 00#, 000#
& I fiE k¥ % FUNCTION AND FEATURES
1. BEELHER  DHEREHTLET  BRE  BOL 1. The gear is controled by motor, stable pump oil outlet, no noisy, strong pressure.
2. OAPLCEHBER EERRE 2. The interval time and running time are controled by PLC.
3. ORENBNGAERERENEEERMEEsE 3. Setting pressure sensoring system could be an option to detect the tube convey pressure
4, ORE:AE-EBRDER BREADER C.NENDER whether achieve required standard or not.
FERTETERE  BORDENFL 4. In order to maintain on-time and PDI efficiency, extra options provided:
5. BE00#.0008HE  BREBNER  IAEREINR » BEWRT A. Single cycle oil distributor SD type B. Presure-relief type oil distributor 5
6. ERRERNAREERN  LRESERERLERN C. Compress type oil distributor B
7. B R BN AR ER ELMENBBAR 5. Choosing 00#0#.1# grease to ensure highly lubrication and economy efficiency.
6. The presure overload adjusting valve can protect motor and ensure the oil tube in normal.

- 7. Always fill oil through oil hole to avoid bad lubricant effects due to non-vacuum status.
FS-2 fiZE 3\ ;H{¥ Disposable Oil

= SHBSHRAR Viscosity : 00#.000#
B =2 Capacity : 700CC
m 5EEERER Features: MISER. MERE « MEARNEE « RN EEH

MGD - 2A- 05

L L I £ Discharge volume: 0.03c.c ~ 0.28cc

A: E28FAluminum, B: B §5 Casting
= N1 5 2% Vomiting number: 2~10

i
e

kW

nfau] M- ItHE

A (m/m) | B (m/m)

Resist high pressure, Wearproof, Resist hot and not go bad, Waterproof lubricate. ! Model Number of port Discharged amount
! MGD-2 2 48 36 M10*1.0
MGD-3 3 64 52 M10*1.0
A i MGD-5B
E27J)RR Pressure Switches GD-5 oDt y - o | womo| g
i ) MGD-5 5 96 84 | M10*1.0 z
* 0.5cc
A A:40mm A, Model 318 Bore type “ MGD-6 6 112 100 | M1071.0
gg;n;rr\;m A g:gg.Smm MGD-7 7 128 116 M10*1.0
:22. :30mm - ~
PME-50A14K 1/4PT 1~50 KG MGD-8 5 144 132 V1010
= MGD-10 10 176 164 M10*1.0
B
—/—] —1 —/—] —1

| P 28 3




= il & R

GREASE SYSTEM

= il R

GREASE SYSTEM

B F & §l Air System
MSKE ) = )i 2’8 Auto Grease Pump

EEDRN D R<THEFHE> Postive Displacement Injector System Distributor <first-out

DPB-1G MSK-2-T2A MSK-2-T2P
- DPB-11G (0.03) &Rﬁ DIMENSION
4= Discharge volume:(0.03 ~0.16) -
A &R :JHAS Grease 3
1T % Vomiting number _ 915m
— T Wi

Vomiting number | Discharged amount B | _
DPB-11G 1 - 40 - 1 .
DPB-12G 2 0.03 - 48 e 2751"”;/4—7%._;--‘:_ :
DPB-13G 3 0.06 17 65 ! ‘! 0=y ]
DPB-15G > o o 99 B k% St B SPECIFICATION '
DPB-16G 6 : 68 116

A MSK - 2 01 - TOS P 5o
DPB-18G 8 016 102 150 T ] ¢y
DPB-110G 10 136 184 BB P: Plastic transparent bucket — 1L I
# 18 A:lron bucket . 1 2R i ]
W2
25 & Capacity 03: 300cc 08: 800cc 2:2000cc R
DPB-2G EE [E% Voltage 01:110V, 02:220V, 24: DC24V
#ieE Flow: 20c.c./min .
IO DL & 5 k% % SPECIFICATION

Vomiting number | Discharged amount
DPB-21G 1 o - 40 SR BIER HESE RAMHET SHASEEE
Lla e 2 ' i 48 Valtage Power | Oil Tank Capacity | Max.Output Pressure Qil viscosity
DPB-23G 3 0.2 17 65 MSK-201 10
DPB-26G 6 0.4 68 116 _MISR-202 | 20 cc/min 6w 2L 60 kg/cm? 0# AT
DPB-28G 8 05 102 150 i MSK-224 DC24v
DPB-210G 10 136 184

% 1E 3 B OPERATION INSTRUCTIONS

PATIMERSLEPLCHERHiEEE » FHEFEN R EEISHRAM L - {EHE—BIRD AR FI9F SN HIE D ECEIZ BRI
ohEah % s 3 INEsh: Ob% !ED“EI E S ) =>(_ 5 3 _\;\ ] QR VS o
MG-1 MGT-1 MG - 003 HUREEL - EREBRVE - EMRBIDEEMA  WEXRE - EREZ - BRRSZIENAES
Motor-driven spur the gear and piston through the time control device or P.L.C to control.
Through the single cycle oil distributor allocate the oil to the every part average and quantitative. To achieve good
lubricating effects. The feature of the type is low trouble and can using widely in various machine lubrication.

i1 £ = Discharge volume: 0.03c.c ~ 1.6cc

ntitE

A e
™\ T Discharged amount 2
' & {8 B ADVANTAGES
* AHIREETHIVETRE) - BEEEREW)ITEENIKFEEETHE - RSITHE60kg/cm?2
wsE L T TS MG-1 003 03 36.5 44 M8*1.0 | PT 1/8 1 ZE*%%KEEBEQJ_TU{"EEB gﬁﬁ :-aiﬂf( ) Eﬂ]jﬁmgﬁm ﬁ\ ER=) =60kg/cm
] ™1 output . output 0.05 o5 2 SHFEIETSE - T ES S ISR EF5IbE - S /S ILmOEE -
direction 5 direction ' 3. AR B RHFRIL - BFRER I AKX HEPURIENRERIRIE LRYTSE -
A RS 010 10 4. B (ERDMRESDE » AFENITII DI HIEEIS EEE -
<1 016 16 5. E—EBORBIMERHEYSA-1E » TERNHAIER » TRIWBFIRT » REHEENRE -
-— 0.25 25 i
LIETH U E 1. Use of single pipe to low voltmeter (6W). Also, you can adjust the output pressure according to every machine needs, limitation of 60kg/ cm?2
2. More convenience to fill the oil. User can choose fill from up side or down side. In up side to fill, user must take out of the plunger first.
3. There are 2 exhaust points. It can lower the air bubble in the tank and operate more convenient if you use the exhaust points appropriately.
o {EE)[EZJ] Performance pressure : 2.5 MPa 4. To match with single cycle oil distributor SD type. It can allocate the oil average to every point and more efficient.
e [CfSE /] Restore the pressure : 1.2 MPa 5. For the single cycle oil distributor, it can add the sensor YSA-1 to check the working situation and the time of cycle. Also, to check up
the trouble like ;jammed or no oil in tank etc.

29 — — 30 —
X OB B R B R A 3 YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. \ Xl B B M & B R A T YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. \




= il & R

GREASE SYSTEM

&8 Fll & Yl Air system

MSKE &)=

MSK-6-T2P

MSK-6-T2A

HEE Auto Grease Pump

1 ¥ 7% SPECIFICATION

Power

frrat o =]

SHEEE
Qil Tank

BRARMILEHET]

Max.Output
Pressure

Flow | Valtage
MSK-601 | 1MoV
60 cc/min
MSK-602 220V

Capacity

40 W |2L,4L,6L| 80 kg/cm?

CBRE

& R A Time r it & M A1 22 ThEE TIMER APPLIED WITH SENSOR

o %"M\Tﬁﬂ%fﬂ.‘ﬁ  IRZE

. Né;éP\JZ}%%IJEEE%T?%E
BN HE RN -
 AHEEREIEE -

. The power to be supplied mush be same as specified on machine.

. During installation, follow the instructions for wiring to prevent controller from damage.
. Earthing is necessary for safety reason..
. Always fill oil tank through oil hole to avoid vacuum tank.
. Prevent control circuit from contacting oil, water or any other objects for good condition.
. Always add oil according to instructions to prevent overflow.
. Prevent machine from impact.

. 11%E°A2§Eiﬁéﬁi$1%t’%7ﬂ§ﬁﬁ%EJ?JFHT%
SRIKERRIBN SRS - AR IBIRESR -

RIETRRUE RS -

IE® EIEREE FinEE STRIER FLEEE
Normal | Off-time duration Start Frequency sign Stop
= (S LER5E FIaEE 30M & Bl
Abnormal | Off-time duration Start 30 seconds later | Alarm
WEIXER | ELEE
No frequency sign  Stop
% VERE S B #5 HE#  CAUTIONS & MAINTENANCE SERVICE

. RFEIDEN - BUASBIDEEIDE - USSR RENEERZEMRE -
BHZK - NEEMYIREREE SRR -

& R ) l DIMENSION

Wl

0T

385

148 [ 31 |
T r

&iﬂ ¥ &t Bl SPECIFICATION
MSK-6 01-T2 P

L ﬁ?ﬁ P: Plastic transparent bucket
& A: Iron bucket
E%ﬁgé 0|| Tank Capacity 2L, 4L, 6L

&’ Voltage 01:110V, 02:220V
= Flow: 60c.c./min

& i B8 BC [ [@] OIL WAY DISPO

(

E I HE ¥# £ FUNCTION AND FEATURES

1. IJHPLCER TIMERER EFUHR IR L5
2. SR EESHE0E -

3.MEBHEZER  JRENHLIFESHEE -

1. May or fixed time the TIMER hypothesis and stops the
time by PLC for the oil.

2. The high pressure puts out suits the high viscosity fat.

3. Attaches the overload safety valve, may protect the pump
and reduce the pipeline damage

T @

o—to ot+—o
o—fo ot+—o

o—-o"l’ o4—o

S
f
o
1
f
)
I

o—o0 o+—o0 o—to o+—o [T
o—to o+—o0 o—to o+—o O
o—0 04—0 0—0 Oo1—0

= il & R

GREASE SYSTEM

X #OE B

B &

B R

NI

YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. ‘

BRI Arsystem L ja o mi s

1
B.J

YSA-1E =i iR
Check box connecting

YTCB-3SiZ = (5 1% 8 [0l i %5 & ) Control Box (With counter detector to feedback system)

&5’* Bl R % % R S DIMENSION
147
129 Vakad
EEryC S —
= @ | [FH= T I
E OO 4[]
MIN NUM
INT DIS FEED RST
©O © © © ]
= - = = 16 100
& ) ® 1 |
fdi H &t W] USAGE
1. [EEEE: AC1$ 110V/220V 50/60HZ W 5E5F A JJ#%88 Power source adapter (5P)
. C) ﬁl\l\: ’-Htl::l[ N
g_ :fégfﬂgﬁggﬁ? AT L o 2)s 1.2 EIRAJI Power source
4. BERISELNRAER: AZE 2N\ 0 /¢ 3.4 BERAEENEGE Alarm output
5. Bk ERRSEYNEE 3 5 ¥ Ground
6. [EFERM: YTCB-3SBE NEHIS A AMSKE BN A & SD-SH DRI RET  AUENEE

m EEH 7] Power output type (6P)

HE—EDRRERREDE, R MAIRER SBIRAE, & %EEW =A /T .
ESMRSEHL Output by single phase motor

ERRRHER, MEDHEIED BRI, SMmiEEmSm -

. Purpose: applicable for various machinery lubrication 1

2 _JK Gra
3 .= Black

1. Power: AC1 § 110V/220V 50/60Hz e N FEIZEIR Motor power
2. Overload fuse : 3A amp 0%o 4.5 1ERNS5% Sensoring sign
3. Alarm output circuit (max): 1A amp 2 : Y 6 @A Notto be used

4. Motor power (max): 3A amp .

5 B White

6

. Function: YTCB-3S Counter box is for msk grease pump with SD-S distributor
used. Can precise control lubricating volume and frequency in each
lubrication line, for maintain long machine life.

KA ENED Driven by machanical
B EH#R The wire output
(4) C: HEECommon
(5) A: EF#ENormal open
(6) B: EEAfZENormal close
 BEFRETEATINR - 5B (4),(5)MIRIR(AKZER)
A point: please connect (4), (5) lines when use input counter

H BERBIEETFEFREEE - 551(4),(6)MIRIR (BEEEL)

B point: please connect (4), (6) lines when use the pressure limiter or oil level switch

~— i %% WIRE

I fie 8 % & &t W] OPERATION OF TIME CONTROL
[ & WH1.2.3 BEAN
=R — e . Power output AC Power source 1 1
Power | | MRS BAESE 4. 5 w1, 2 ————-O}E-Efﬁﬁm
" _-i [ Sensoring Sign 30 Power output
ylE| ) | sy | 31 AxeRen .
Fuse _‘ | T | Alarm Outputg T N ; ﬂ}ﬁ%m%ﬂﬁﬁx
d [= | 5 otor sensoring
BEIRAE (] M08 rED BT e R N e °] A
Buzzer | || |Z_~ = = | Ground Ground
© RST#E RIKOISHRELWEFETM - Akey for manual oiling according to seconds set by DIS key.
© FEED# RIFENERITH EFHE) - Akey for manual oiling control (stop upon release).
© DISiE EBENEENYRTR  EERFEA1-99RBEMERTE © Akey for setting motor time of pump running numbers set is available for 1-99 times.
. O INTER  BRESHRREZAER  FILREBEI-09DEMEE © Akey for setting motor interval off-ime set is available for 1-99 minutes.

X E B R ZBRXIG @ YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD, \




= il & R

GREASE SYSTEM

= il & R

GREASE SYSTEM
|

& F) & Yl Air system |_ MeZES i Ell & §ll Air system

SDE—BIRIN DA 2E Single Cycle Oil Distributor ASKR ENIRE IV ;EHE #H/ =# Air Type Engine Oil / Grease

ASK-16W-T2
& o A 8l B 42 2% R~ DIMENSION
Ifj BE % £ FUNCTION AND FEATURES ,  s1158 _
$100
REEHIVETMHEE/IRDESE » ITEEHRNTK “'1, -1
RIREIE  ITHIRMEFRBUIZEEY » MESEILEN | } } |
MARREIAREMILEOMNRRT » FIA—BBETHN[E | : : :
BELARSLBTELR - BOER - RE2BET— ' (R —
HROBEEET @ IERARBERLMEFTIE - - .
. L e LEE] I I | | B| exvausT
The features of single cycle quantitative oil distributor are ZEEAO I I exHAUST ouTLeT|! = ouTLeT
as the following: Discharged amount could be varied as the 1/8PT l — mll [Unu s L, ] ,J iy
specifications. The numbers of port could be increased or %fm%' 1/8PT —g—— o} : 1/8PT
decreased as your needs. Be easy to indentify what I : _},}[' I ] FILLING
problems there are |.E.the condition of each port o |® @! | || 0 l%'_fr?l]
repressents those of all ports, in other words, if there is any 112 gm ' 1/8PT
clogged port, the oil flow would be retarded even stopped. i - : SR 4—p9 84 60.5
- =W 551 k% % W SPECIFICATION | -
ASK - 16 F - T 2_F|:_
i=h P: Plastic t t bucket(2L) :
EFERE) EEE 1S BUTLHSES | BAIESEN _ SRR P: Plasto transparent bucket(2L) 5 & A: Iron bucket
Operating Recommended Discharged Min. number Max. number /BEI *ﬁ A= Tank Capa0|ty 2L 4L
pressure grease amount (cc/st) of ports of ports Hﬁ}i % With pressure- relief installation
Ax
sb 50kg/cm? | NLG1 No. 00~1 0.1, 0.14, 3 16 FPREEE With float switch
0.18,0.24,0.3 It 4+ & Discharge volume 8c.c./min

R &iﬂ ¥% % SPECIFICATION

Model

=k e & B B | CHRESE | B S SEE
$D-2,3,4,56(5) | 3 | 54 | 8 | 16 | 65 | 105 | 19 1 Ko SRR e | Ok | e o | Oiessty
_ = 8 Hie altage pEIessue valve capacity pressure (cst)
SD-7, 8 (S) 35 54 102 16 82 10.5 19 }%:Iﬁé
SD-9,10 (S) 35 54 120 16 100 10.5 19 | ASK-16W 10 24V, 110V, 220V 5-7kg/cm? O it 40-50kg/cm? 0#2AF
SD-11, 12 (S) 35 54 136 16 116 10.5 19
SD-13, 14 (S) 35 54 153 16 133 105 19 & . &
&M By ¥
SD-15, 16 (S) - ” 170 " 150 105 19 L (| OI_’ERATION INSTRUCTIONS J) HE FF /& FUNCTION AND FEATURES
REREINLBERFRSA %am@ag%gmmaﬁmw%*ﬁ  NESERENER  IMLHENE
IRBERRENEARRNBERIES LR > #EH i .
o e i e TS 2 UHRNREREREE  TENSEHNLERE  EINGHESE
MRN8 IR T 2D RS BEEEDERARN) > & HETEEEE  BORYEEE -
e Gy i sep BENAEFEENRACEAREILC  EREAMESN | , a2 it s
7 i A0 TT I B B 3. MEEREHRE  EERAREREIREIMNERINAE
%gmngrHﬂm"E@%m.] 65 BR > HEWRMEHERRNE(F  ERINEEERER 4. REHEBBHEE » OEIRETIRFE :
T - BERNMERRL » ST T-—RNBRBERL—FE - * (—) ERRE : ANENEBNAE -
fE (—) B ZEFEERRARAEMNGEKERERA O EEMG: #0L\ T * (Z)BEARE : AFEBBIARE °
& ETEEREABEICE . HOSNETIERNE JIHET): 40.50 KG/CM? *(2VEATE : VISKAE  UNERRENEENTENES
ﬁTﬁ&l?ﬁDjﬁJ—ﬁ D‘ e \ Pneumatic De-compression Pump Operating Instructions: 5. ﬂ{jﬁ@éﬁ,%%g% / HL/-’;@F@Q& >
(D) AR=EERR TR » BEIRERERERE ) g This pneumatic yellow grease pump adopts air supply pressure 1. Pressure output is designed with adjustable output structure to meet the demand
BN EEERZEETE  BERSRREEHT - 7 booster cylinder to produce pressure, and to push down the filling oil of various machines and available to couple with relative pressure adjustment.
from the fuel tank into quantitative distributor (RH). After the 2. Immediate button is able to proide machine with requiredoil volume at beginning
Fig.1 Three piston roods are at right sides originally before 2 = complefion of pressure accumulafion, the feedback message of end 3. Trme-conitoldeiics 5 provied 1o camy out double-step acjusiment between
the flow pressured into the oil distributor, and then the third N pressure detector will be send to PLC and the wind source will be oil supply and intermission. _
move first to the left side so as to guide oil to flow out of the turned off after the confirmation. Followed by the actpn of prfessure 4. Oil pressure sensor.lr)g Sylst‘em is provided for error de(;tln as below:
and exhaust release by a solenoid valve, the pressurized cylinder (1) Broken tube: insufficient inner pressure of tube is detected.
Ist port. piston will return to the original position due to the release of pressure (2) Insufficent air pressure: Air pressure is not enough. )
Fig.2 The 2nd piston rod starts to move after the 3rd piston ‘ Z / T _ / 77 < and wait for next pressurizing action to repeat this actuation (3) Insufficient oil pressure: Detect insufficient pressure resulting from
) T i s, : extp 9 p : poor power output of the worn-out parts.
rod has moved to the left end, simultaneously, it will arrive = Applicable oils: grease below grade #0 (4) Oil lack in tank: insufficient oil volume is detected.
the end so as to guide the oil the flow out of the 2nd port. (—) Fig.1 (Z) Fig.2 » Spit-out pressure: 40-50 KG/CM? 5. Buzzer is provided to react to condition in time.
-

33 — — | 34 2 —
\ XM OH BB K BR A G YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD, \ X OH BB & BR A G YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD,




= il & R

GREASE SYSTEM
|

] 1 & Gl Air system

Solenoid power 20000 (RH—
4.6 BHNE5E )
Sensoring sign 00000
3.5 TfEF s
Not to be used (SD—'!OS)
& i H] 3¢ W] INSTRUCTION SRR (1) 8
ZBIRAT
AC power

1

2.

1. fEREIR: AC16110V/220V 5060HZ 1 5o\, 1.2 BEAS
BERRHR: A LIE Q

3. Hi%: BERSEENEE 3 3.4 BRI Aﬁcﬁo_
s
1. Power: AC1 § 110V/220V 50/60Hz Alarm output e ot {
2. Overload fuse : 3A 5 i
- ' Ground 1

3. Purpose: applicable for various machinery lubrication

W i 0 30 Time o0 & B 201 98

&&%%Lﬁéﬁi

NN WN = \|o~011>g.o|\>—'

@

(=

r~

I~

m

A
E é

D ECRE

1.2 BHRER

HHHﬂA

DISTRIBUTING VALVE

5)

ASKR ENRR BT E A #5M/ =8 Air Type Engine Oil / Grease

- YTCB-2,25

YSA-1
2 A 25

SENSOR
oLl

EIREHRE Layout of the power with timer controller(Five pins)

Power source  source o |

2 4

1
2

371 AMX. current
4_J A

5

Ground £ 1 OASE

> /J?Hjjj

Power output
—o— NEMA

Not to be used

L o\ AR
Sensoring sign

TlMER APPLIED WITH SENSOR
BRI BED S BIETN DB 23RHEY Only use this sensor system together with RH type distributor

IFE (e =R BEEE (e
Normal Off-time duration Air output Pressure feedback Stop
FAERF Time delay timer
2E (e = 60 & B
Abnormal |  Off-time duration Air output 60 seconds later Alarm
HEICEE (F 1R
No pressure feedback Stop

PR 7% ik

CAUTIONS & MAINTENANCE SERVICE

.2151%@@7\25@/ A PR R EIRERS -

.Eééﬂ% —(FAMRBAZIETER - IBIBIEEHISS -
%&M\}ﬁtiﬁiﬂjﬁ URLZE -

. }E%EDD}EEH% » BILFEBIAEDIH » IR SHURENEE EZEARE -

NS RIS E”F?%EEUSE@ZK  WEEEMMY)RE RS - LEWE -

SHFEARZHASRNEE - BKIETREK - LBEE -

AHBEREEER -

. The power source input into the machine must comply with the specification and power required shown on the machine.

. During installation, follow the instructions for wiring to prevent controller from damge.

. Earthing is necessary for saffy reason.

. Always fill oil tank through oil hole to avoid vacuum tank.

. Prevent control circuit from contacting oil, water or any other objects for good condition.

. Always add oil according to instructions to prevent overflow.

. Prevent machine from impact.

= il & R

GREASE SYSTEM
|

MER T Arsysteml_ g1 a2

YTCB-2SiZ#| = Control Box (StE 2| SHiE NOEEHWith t

&%Eﬂ&

YICB-2, 2S
(B ASK-16W14EY)

h timer controller pressure & feedback sensor)

R >~} DIMENSION

47

129

106 |

112
90

"
CJ ) -
MIN SEC
|| INT DIS FEED RST -

l_@@@@

11.2

E! fii Al 2t W] INSTRUCTION

. FAEIRE: AC1$110V/220V 50/60HZ

BERIEH: A LIS 1
 ERAHBAER: AR ° 9)s
 BHBEHRATR: AL R

AR BRREEER B

. Power: AC1 $ 110V/220V 50/60Hz
. Overload fuse : 3A

. Alarm output circuit (max): 1A

. Motor power (max): 3A

ORWNS RN =

YSA-11H = #R 558
Check box connecting

c P

. Purpose: applicable for various machinery lubrication

& 9
- ) H — | = =72 R
&R — CrUIRA Y Power output
P = (CHIBA Y |1 |
ower | f— | T RANESE 4. 5,
s h "___ ] Sensoring Sign
Fu;; é_ Il l ) L )
| LM~ SEC |
gmg (|| || W os re o
Buzzer 1110 © © © |
e —
© RSTi# REDISRECHEFETE -
© FEED## RSE)EiEn GFEE) -

W 55 A JJE58 Power source adapter (5P) M SR 70 Power output type (6P)

EEH 8L (Air) Output by solenoid power

1.2 ERAN
Power source ] 1.2 EWHEER
3.4 BRAMEEL 1o\ Solenoid power
Alarm output ©%o 3 NMEH
2\ /4
5 3 Not to be used
Ground 4.5 WHSTE AZEL

Sensoring sign (A)point

4.6 1B BEEEA
Sensoring sign (B)point

44 ELED Driven by machanical
& H & R The wire output
(4) C: H[EFCommon
(5)A: EHEENormal open
(6) B: #EAEENormal close
XEFRETEATIR - 581 (1), (0) MR (AZE)

A point: please connect (4), (5) lines when use input counter

 BERBISHSFEREAR - 551% (4) | (6) MIRKR (BEEEN)

B point: please connect (4), (6) lines when use the pressure ||m|ter or oil level switch

o e ”yE H| OPERATION OF TIME CONTROL

EIRAD
AC power
source o——| 1 1 >%,J?ﬁjj
° ACo—— 2 2 ——o” Power output
B 3 ——o— &R
Mot [ 1 Amcaument [ o Nottobeused
4_T 1A .
5 —o | BAIER
%m d —5  OASE 6 Sensoring sign
round < 1

A key for manual oiling according to seconds set by DIS key.
Akey for manual oiling control (stop upon release).

O DISiE ERBNEEREIRTR  EEREBM1-9MEMELTE « Akey for setting motor time of pump off-time set is available for 1-99 seconds.
O INT#E BREEERIEIRER  FLEBMI-99DEMERE  Akey for setting motor interval off-time set is available for 1-99 minutes.

©

36 —




= il & R

GREASE SYSTEM

= il & R

GREASE SYSTEM

|
ﬁiﬂﬁﬂ]AirSysteml_ EEZ?}EEE ﬁiﬂﬁﬁ“AirSysteml_ EEZ%E%

=HHTEEM Grease-Valve

RHE £ & A & & 1 1 Bic 2% Quantitative Oil Distributor

MG .
a 1 ¥ %t W] SPECIFICATION
, B MG - 05
. A
RN : ITHE
3 B Discharge volume: 0.05¢.c ~ 0.25¢c
68.2 N
T 4 HHEDE & SPECIFICATION
& . L Output
IR 1% 3 B SPECIFICATION direction - It
RH - 1 ( 0.3c¢cc ) Model Discharged amount Ll L (/o)
. It s ' -« T1 MG-05 0.05¢cc 45 54 | M8*1.0 | PT1/8 05
Discharge volume: 0.1c.c ~ 0.5cc MG-10 | 0.10cc 45 54 | M81.0| PT1/8 | 10
It
Vomiting number: 1~7 MG-15 0.15¢cc 45 54 | M8*1.0 | PT1/8 15
MG-20 0.20cc 45 54 | M8*1.0 | PT1/8 20
MG-25 0.25¢cc 45 54 | M8*1.0 | PT1/8 25
& $1 ¥ 7% SPECIFICATION
{EEIEES] : 2.5 MPa
I8 SIEFEIEN RY Sizemm ¢
: o [EfEE/] : 1.4 MPa

Vomiting number| Vomiting number | Minimum performance pressure

Model Number of port Discharged amount

2 50 39 | 15
RH 3 0.1,0.2, 0.3, . 65 54 | 15 MGD

4 glcm? 80 69 | 15 a >

; 0.4,0.5 o o | 15 1 ¥% 3 B SPECIFICATION

6 110 9 | 15 MGD - 2-05
i 7 111~118 | 130 | 15 T—Diﬁ%
& Discharge volume: 0.05¢.c ~ 0.25cc

= ItHOg
1 ) STEP 1~3 B Vomiting number: 2~10
=) (o =) & 1 ¥& % SPECIFICATION
Eiim . BEREm=E ASHIERNA » BOBEL EHEE . EBRNREE
DEEER L - SRERIIREYR - 5 BEEERZBERE - BIREEANBENTRE & At em) - ‘ MHHE

B itlhan MO8

jetted through the port.

HEDTRA © (AREIEER) - By REEENEAEE - A
Fig.1 Fig.2 FRESAYTI EG(E IR - > MGD-2 2 48 36 |M10*1.0
The pressured oil Oil continuously flows EEEARL - BRRNAE "
pumped into oil from the vicinity of the EEHRAMLLE - 282 . S ol LU 0.05
| distributor through the valve and simultaneously Fig.2 MGD-4 4 80 68 M10*1.0 '
i} main passage and open the increasing pressure When the pump is stopped, 0.10
the check valve. forces the piston rod pressure in the main pipe is MGD-5 5 96 84 | M10*1.0
backward. released due to the function 0.15
. MGD-6 6 112 100 | M10*1.0
of the relief valve, and the 0.20
check valve is urged to MGD-7 7 128 116 | M10*1.0
close the return passage 0.25
and open the port. MGD-8 8 144 132 | M10*1.0
Consequently, the
accumulated-pressure oil is MGD-10 10 176 164 | M10*1.0

X OEH B R KRB R

0 YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

B KRB R

5 ©

YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.




i I= & &R

RECYCLE SYSTEM

c:

N =

YEM-258 E % 1\ E i Solenoid Pump

YEM-25

8 ¥% 3 SPECIFICATION

YEM-25L

Mt HER D

&%Eﬁ&fé‘%ﬁ'# DIMENSION
YEM-25S8

— 11
—H— T )
| |=
5>
A e [™
L _|. 25
iu
k&
L3

BHTR ItHE
Output power Outlet volume
YEM-25S
YEM-25L 25W 110/220V | 0.1 L/min
YEM-25-T2P

Output pressure

1 kg/cmz2

mpiss | ME IR 7] HES =
Output bore Suction Qil tank capacity
X
@4 or g6 |1-1.5 meter
2L

Ih HE ¥F £ FUNCTION AND FEATURES
EIBENMIEF -

BB EER -

EHIRENS  TRRRSIREETRE -

. O{FEREREER -

. Saves the electric power consuming.

. The volume is small does not occupy the space.

3. The mobility is high, but fast index, regulating control

current capacity.

. May make the intermittence or the long-term usage.

& Ffl 38 APPLICATION

TERERRSHIVETFEH (BK  8K  ER - #K...)
FNIHRE  FRBBERRN  ENREREE -

The product can be used as cyclic lubrication system for
all kinds of machines such as , lathe, milling machine ,
grinding machine, drilling machine and other processing
machine.

i I= & &R

RECYCLE SYSTEM

MS BUFEIREE Pressure Release Rated Volume

MS-3W MS-12W

5
E%]
&

&S

% I HE ¢ = FUNCTION AND FEATURES

1. SEEEREIERINE  REBE > NEEIL X8 -8R -

2. IFEREEREEEE S -

3. IBETEE ~ UM - RABERRIKEZERS °

4 WEBNIRASREHIRRERE -

1. Motor direct drive gear pump, current capacity stable,
the outward appearance dexterous, artistic, is practical.

2. May make intermittent or continuous working lubrication
cooling uses.

3. The pump may make, the vertical dual purpose horizontally,
the inspiration drill tubing length may depend on must have
to coordinate.

4. Attaches the pressure and flow control Niu and escapes
presses the installment.

aﬂﬁﬂ&i@%ﬁ'ﬂ DIMENSION &+

power cord outlet | |
/Pressure adjusting switch

— s
|
3| | L
| 80 B %

g

MtHE | FREEHE | SERD
Discharged capacity | Discharged pressure Qil Viscosity (cst) Motor type
MS-12W | 1/ 1.2L
MS-5W 0.5L 1-15kglem? | p0-pg0g | 10V, 220V, 220V
T adustable 3 phase

MS-3W 0.3L

% I BE %% & FUNCTION AND FEATURES

1. BN@EASTARTRETNELEE » IEeSEHES10
FK > OB DRI AR -

2. HUES - AXREREREENGE - BRRERREEEREE -

3. UEMHENRS KRR EE - OfEMREREBEN 18
SEIEERHEIRGEE » D NDENEE -

4. FAEREARERECH K (Pasca)RIE - FEEHNEARES -
IERAE PR ERAVEE -

1. Pressure output is adjustable which can meet various machines' needs and
make a matching adjustment to relative pressure.

2. The oil level device can detect il quantity in the oil tank and timely make a
response to connect the adjustment actions.

3. The instant button is a push-push for instant demand which can instantly supply
machine with suitable oil quantity to let machine start smoothly to reduce frictions
while machine just starts.

4. Can absorb oil from the bottom by application of Pascal principle to greatly
increase the efficiency of oil feeding and avoid the faulty of air interval in oil pipe.

J 1% #t B SPECIFICATION

ME - 1201W-T4A
T $##%Iron bucket
S8 A & Tank Capacity
4:41, 6:6L, 8:8L, 10:10L, 20:20L
E R E B Power voltage 01:110V, 02:220V

A1 B 2255 R~} DIMENSION

LEE -
ﬁ T
®BEAND | @0

O

1N J
@ I ) T rl{_\}
i ] ) o
| i ‘| I
111 1 1 o
| ¥;|:
|
;I: L I- \ :
2 (i DR
EER
L ‘ 24Oﬁ-ﬁﬂ 11.5
I

$1 ¥& 7% SPECIFICATION

MEED | FREEEE | FHERS
Discharged capacity | Discharged pressure Qil Viscosity (cst) Oil Capacity
ME-12W | 1L/1.2L
1-15kglem? | 500000 | 4L 6L 8L
ME-SW | 0SL I8 adusible 10L, 20L

ME-3W 0.3L

| 5. ME-1W, ME-2W, ME-5W, ME-8W can be input into computer to do intermittent or continuous action.

X OH BB KRB R AT

€

YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

X OEH B R KRB R AT

<«

YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.




i I= & &R

RECYCLE SYSTEM

#5mE#E Oil Pump
BiEmi Change direction singly

B {{7Unit: mm

BT\ Model | EEGRITHE | MTHE outlet Umin | HEEBT) | HEEEH | EE Weight
Max. pressure | Max. revolution

kgf/cm?

1500rpm | 1800rpm |  kgf/cm? rpm
TOP-11A 1.5 2.2 2.7 5.0 2000 0.55
TOP-12A 2.5 3.7 4.5 5.0 1800 0.6
TOP-13A 4.5 6.7 7.5 5.0 1800 0.6
T Model BB/ EE Weight

kg

c.c./rev 1500rpm | 1800rpm
IRA-1FS 1.16 1.74 2.08 5.0 2000 1.0
IRA-2FS 1.80 2.70 3.24 5.0 2000 1.1
IRA-3FS 2.50 3.75 4.50 5.0 2000 1.2

sE M Top Adjuscing Valve

AT Model | [B2/J&G[E| Pressure Range
VB 0~5kg/cm?

NOP N E#5&E Tri-way Pump

NOP
& A1 B 2255 R <} DIMENSION

178

ROTATION
O

i I= & &R

RECYCLE SYSTEM

SPECIFICATION

HEN | EEn| O :
Discharged pressure Caliber OUT
NOP-11AVB | 2.1 2.5 1/8" (50 L
NOP-12AVB | 3.5 4.3 |3-10 kg/lcm2 | 1/4 HP| 1/4" . 180
NOPA3AVB | 6.4 | 7.7 | "tk 3/8"

NOP-15A

K Z

B.| 1 #& & SPECIFICATION
AU 5267 |2smas| 0o

Model | ccirec| 1500rpm¢/mm | 1800rpmmm | Max. pressure

NOP-5A| 15[ 225 | 27 dlolorlioce
NoP20Al 201 30 e 1HP |73 [100| 121|156 | 125 | 225 86 | 172 | 80 10 | 252
NOP-30A| 30| 45 g |20Kkglom?| 2000 | 1" 2HP | 75[125] 157 | 175 | 140 | 248 100 | 188 | 90|12 | 284
NOP40A| 40| 60 72 3HP  (82[125] 157 | 176 | 140 | 248] 100 | 188 | 90|12 | 208
—1
\ X BE B R ZTBRXG Q YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. \

Y

YC-U ;27K E B Under Water Collant Pump

& 1 k& 3t W SPECIFICATION

&
. \\8 YC-U-18-180-110
" L mm
é—% Voltage
FiiAkO @ KE
OUTLET Length
O%: : ~ =S|
[ Horse Power

% B — U :)27KT\ Under water type

. S: BRI\ Self-absorbing type
e — mERR
- Pump style
L4
B.Fil ¥& ¢ SPECIFICATION

AU Model | ESJHP | A | B | C | D | E F G H |

e YC-U-18 | 158 [ 10 [ 150 [ 90 | 7 [128 [ Pram' | 18 [100[ 130]150 [ 180[ 90

% Yy e i I FUNCTION AND FEATURES YC-U-16 | 156 | 110|150 [ 100 | 7 [128 [ PTar [18] - | - [150180]100
18K, : FHMRERRER | SRR . BRI - YC-U-14 | 14 | 125] 180 [ 120 | 7 [ 158 | PTH2" | 24180 200]240 | 270120
2. BT« ASTRARERRENST | [IWRE  BIRD - YCU12 | 12 | 135|225 | 135 | 9 | 170 | PTaer | 28| 175|240(280 | - [135
3 2REH MREGAGE - AR - BARIZRACNCIRED YC-U-34 | 34 [ 135|225 | 150 | 9 [185 | PT1" [28] - |240f2s0] - [150
B ERXERERLE - SIERDEMASERE BER YCU-10 | 1HP | 135 225 [ 150 | 9 | 185 | pr1r [ 28] - [osofaso] - [150

TEREMCSIEE L FMRS » ERNBHE RS -

1. Water Dipping Type : This pump is high quality , resonable Yok g TIRfE K32 /P
design , and excellent performance. Outlet thread Working difference | 2m outlet volume
2. Self-Absorbing Type : This pump is run by the same shaft seal
with excellent water-proof , low rate of malfunction. YC-U-BK, 1/8HP PT 172" 53 24
3. Every part of the pump is treated under anti-rust treatment for 1/6HP PT 1/2" 8.5 40
durability . Its electrical specification is inspected with CNS testing SELF-,\:\%g(-)RBIN 1/4HP PT1/2" 105 67
method and strict control will be done before leaving the factory . In G TYPE 1/2HP PT 3/4" 15 120
order to be convenient for the machinery buyers , the size of this 3/4HP PT 1" 18 180
pump is manufactured according to MCS standard . So , use ofthis 1HP PT 1" 20 240

p ump it will make ypur machine remarkable on the performance.

YC-S BRI\ E# Self-Absorbing Collant Pump

M s

CIFICATION

RUTY, Model |57 HP| A B G D E F G
YC-S-18 1/8 110 180 140 7 140 |PT3/8"| 45
YC-S-16 1/6 110 180 140 7 140 |PT1/2"| 45
YC-S-14 1/4 125 240 185 7 185 |PT1/2"| 65
YC-S-12 1/2 135 280 195 9 215 [PT3/4"| 85
YC-S-34 3/4 135 300 200 9 220 | PT1" 85
YC-S-10 1HP 135 300 200 9 220 | PT1" 85

KO TfHiE DREKILEL/PM
E(P.C.D) Outlet thread Working difference 2m outlet volume
YCSERR 1/8HP PT 3/8" 45 20
SERIC L q6HP PT 1/2" 8 30
YC-S- "
SELF-ABSORBIN 1/4HP PT 1/2 11.5 58
G TYPE 1/2HP PT 3/4" 15 120
A& L P TEE p 5
INLET 0
C
e L
| —

X OEH B R KRB R AT @ YU

/B PAY

NG TIEN LUBRICATION TECHNOLOGY CO., LTD.




i 5% & &R

OIL MIST SYSTEM

AMPHFESIEFZEINE B BAltIHIEE Oil Mist Lubricating Pump

AMP-3F
B E5 A = bl

Without time controller

AMP-3CF
BB E

With time controller

a R St [E DIMENSION 425
135
58.5 I &
i Pk
e B
u’ MW= — _
i | [ = o oo = ]
e 5y ) | il
o | = @ © I
| | 6| mm I 4 Bl o
< [*1 205 'fi%;" [
1 N T Z:
B S = INEE
407 g:
& @3 Y & ]| |,
5] T 8 T |
150
I 220
a 241
24 99
0 _ 127 N 264
« 137 4 336
E! #1 K% 3t W SPECIFICATION

&iﬂ#‘i’%

AMP-_301CF-T4P

H%F"ﬁ?’“%l With timer controller
EEEE Power voltage 01:110V, 02:220V
— &ﬁfﬁﬂiﬁg Discharge volume 300c.c./min

Lﬁﬁﬁ P: Plastic transparent bucket , #= & A: Aluminum bucket
SHHEEE Tank Capacity 4:4L
B35 8 B A With float switch

SPECIFICATION

i 5% & &R

OIL MIST SYSTEM

AMPHRFESIEZEIEBBAIUHIERE Oil Mist Lubricating Pump

m BL ¥ $22 # # ¥ DIRECTION OF POWER DISTRIBUTION CONTROL

AMP-3F £
S -
' R > O—1 1
2.3 FENTHEE ic ) i}ﬁn N v
4.5 FEFIRAIEZRACB » R AEF250V/0.1A T% 3
4.6 BImRIER )
7 B SIGNAL 8 | [FOFLOAT swiTCH
1.3 Power contact point OUTPUT 2 PRESS URE SENSOR
2.3 Manual oil filling contact point
L

4.5 Float switch contact point, AorB, max. current 250V/0.1A 7 D;

4.6 Pressure detective point
7  Ground connection

AC POWERSOURCE

AMP-3CF EFZiRE
1.2 EFEEL © 250V~.5A
3.4 EFRETERELER  SKERA

5 i
# ALARM OUTPUT

1.2 Power contact point
3.4 Under abnormal condition,

alarm output contact point, max. current 1A
5. Ground connection

\\ BIEFE R H BV E R iE{EsR BE Operation Direction for Model with time controller
RST# — {RIDISHELNVEFETM - RST Button  DIS preset by second for manual il filling.
FEED## — (RFaFs#liTH R - FEED Button Manual control ail filling (Stop when hand is released.)
DISHE — fFEIRRIEREE » 1-99F)EMERE -  DIS Button  Running time touch button, 1-99 seconds free setting.
INT$ — (FENRIENFRIMBIR » 1-099 BT o INT Button  Interval time touch button, 1-99 minutes free setting.

BWERmnRE,

g A W N o

— @

E fil {+ ACCESSORIES

LMV-2-270L EEHREER [% &

&
—

! R
i R=
- {TETE11IAAR AT AR AN IIINITITRCTANG A0 N 't
- =l e e ey

LMV-3-300L ZERBHMEERE

(L)
.
—

3 - -
<| 45 19.5 300 |

#1 ¥ 3 B SPECIFICATION
LMV- 2 - 300L

L —I_—”“‘ € Length (mm) 200L, 300L

1: & Brass 2:&EBMetal 3: BB EPlastic

EE FENFIRE REKE {EFR @ IR IERS S BB
Valtage Float switch | Pressure release unit | Pressure applied | Release time | Running time

AMP-301F 110V 0] X

] PLC #Hl | PLC £l
AMP-302F | 03/036 | 220V O X 3-7
AMP-301CF L/ min 110V 0] X kg/cm?2

EEE—— 1-99 min. 1-99 sec.
AMP-302CF 220V (0] X

\ X OH BB KRB R AT @ YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

X OEH B R KRB R AT m

iz I YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.




i 5% & &R

OIL MIST SYSTEM

i 5% & &R

OIL MIST SYSTEM

AMLSHE % 1 £ i858 /5 A tD B R Micro Lubricating & Cooling Oil-mist System AMLS#E 2 il £ i858 /5 al tD HI R Micro Lubricating & Cooling Oil-mist System
AMLS-2

& JH k% it W] SPECIFICATION

AMLS - 2 02 - T1P
L SHFE Oil tank
1: 1L, plastic tank, 2: 2L
ER Voltage
01:110V, 02:220V, 24: DC24

)
3

=]
1!

I

N

Nozzle positioning for Drilling / Tapping
Lubricate the drilling tip and down into the flutes.

-
EN i 4% B K% SPECIFICATION

SPT - 100L & e
EE Length(mm) Iy 6E ¥ E\ FUNCTION AND FEATURES
S SPT: Plastic 200 /2007100 el
# SIT:lron .NIREERR -
#1 SCT: Copper 4. EHEERSR -
L i SAT. Alumi 5. HOEERNTMFETIE -
6 IERTBIERIRIR ©
7. R ABBEIRIBRS R -
8.5 BRIIMEA  VBIREBESAR -
B ¢ SRR BRSSO 1. Extend machine life.
SR I AL ~ B 2. Increase the knife speed.
1. EEETEFREK Use to lathe sawing machine, 3. Increase the working piece precision.
Knurled air Milling machine, Drilling machine, 4. Working piece surface brighter.
metering screw Carving machine, Machine centre. 5. Reduce, even no cleaning of working piece.
2. HERILIZHG 6. Improve the environment of factory.
Drain Plug 7. Reduce the human body bums and environment pollution.
§§ 3. =R | 8. Option with liquid switch which reflect the abnormal signal.
- Air pilot valve
location
NS ERs
AR SHoP L i ‘ gﬁrifamdjifstment & B 3 W W 22 %¢ ¥ RECOMMENDED NUMBER OF NOZZLES
q.  knob . BESRUIEIINT Band saw cutting 2. $KERINT Milling machine processing
o — P 5. [FEELE RS T)08 Saw breadth | TP Number of nozzles 71738 Direction of cuttr | EFES1 Numberof nozzles
[ - " 2 Pulse generator ~40mm 240 2 sets 173 one way 1% 1 sets
| sl . adjustment 40mmBAL overd0mm|  3%E 3 sets 27312 two ways 218 2 sets
- S— HEMS : EILA MBI EIR ST Severavays | 34 3 sefs
! b Bescut 173 3. 3, T~ BUJNT. Driling, tapping & reamer processing 4. EISEF I Circular saw processing
| 2 Recommend: Biochemical synthetic §) Cuting Depth | RS Number of nozzes JIE Saw diameter | ! Number of nozzles
;?5 plant cutting oil Bescut 173 20mmbAT under 20mm| 148 1 sets 0~250mm 148 1 sets
210 20~50mm 24 2sets 250~700mm 240 2sets
50mmbAL over50mm | 348 3 sets 700~1400mm 340 3sets
- S0mmiAE over50mm | 5% 5 sets

45 - — 46 —




0 5% & 4% B i & B 14

OIL MIST SYSTEM ACCESSORIES

HFEOUHEE Oil Mist Collector EE 1§ Sleeve Unit S 7Unit: mm

L AT Model EE DIA od L T HEX
4>
OMC 6050 & ‘ . ‘ PA-4 o4 4.1 12 M8x1.0 8
= = T e vivninial PA-6 26 6.1 125 M10x1.0 10
R ¢ DIMENSION ed I IW‘ PA-8 08 8.2 14 M14x1.5 14
T e b PA-10 210 10.2 15 M16x1.5 17
HEX ~» Q PA-12 212 12.2 16 M18x1.5 19
OMC8050 [ 4 —
e —
370 mm N <
— N\ ‘ ‘ PA-4-01 M8x1.0
A i PA-6-01 06 6.1 7.5 12.5 M10x1.0 10
| od1 ﬂdf PA-8-01 28 81 | 95 | 14 M12x1.0 14
I: [ i S 7""-“’1" ]
I | aaaad T
HEX
=~——200 mm —
585 mm
OMC 12050 - & Sleeve E{i7Unit: mm
1/2HP LA
B 7 im ¥F M FEATURES <_>‘ AU Model | (S DIA
N 4 PB-4 o4 4.1 6 45
FERRADREEL - BREHBRIRARIPCEH [ PB6 " o B e
% S BEE—BEEI ABREEE T - %) oD | l od PB8 m 51 0 ;
{ DI NABETLBERBENNS_FOHCET - 5 | . BERTE o 0 - s
OMC12050 EEMZERER - /)EED SR EIERIREEEER - & - PB-12 212 121 14 9
BRIMER - BIYLA CRURZEC W DB - BOEEARZ
SoEEMRRRE - TERERAHRIK— IR - 18
ERENERRE  AXFERRE TFENREREE - A7, Model £B{T DIA od gd1 ) L
This product adopts the classified purification mode. First, when PB-4-01 o4 4.1 54 6 55
the oil mist is sucked into the purification machine, the large PB-6-01 26 6.1 74 8 6
I s . ) e particles of oil-drops will be filtered by passing through the first PB-8-01 28 8.1 9.4 10 7
f& “‘ aF ﬂ: Environmental protection and purification: filter. Then, small molecules of oil mist particles and gas will enter
EREEFHRARODORE - BNE ) I8EE - REX TR the second filter packed with thick layer air filters. Small and
HEINTHAATRZERS - BRE ARERNSE - medium-sized oil mist molecules will be filtered in this step. More
Blade rotation applies the principle of centrifugal force to produce high pressure, than 99% oil mist hs been separate after the two firation steps.
low noise and large wind amount. That will quickly suck out the oil mist in the In adition, an optional thrd plug-in activated carbon fier drum
processing machine and be free from the impact on human health. can remove the petroleum odor in the air in the meantime,
improve the air quality of the plants and significantly reduce the
£i1 §E 7k % carbon reduction: ~ health hazards of workers resulted from the oil gas. B3 Model | EEDA_| - | - | - |_riex
HRBPRREANNTEERA - AR HECNEETEE SR :Egjg; ;‘ 2 22 PTl;S 13
A : PT1/4 3
iﬁ I TEMRFHEZIRNFRE - BB SmRAEN E O # SCOPE OF APPLICATION APC.cor . : 25 — =
Pro;smsi'? factory equipped with central air conditioning will avoid cold air E0R - CHCEFSTRITI L » DTl » ORI » APC-602 0 > 2 PT1 16
g lactory equpp : . R RS ATHR TP RERURE - APC-801 8 7 27 PT1/8 18
leakage, enhance the effects of cold room and reduce the power consumption . . ] ) APC-802 8 7 27 PT1/4 18
with the installation of oil mist recycling machine as well as extend the machine Applications: the oil mist recycling of lathes, CNC cutting machines,
life and improve the efficiency significantly. machine centers, electrical discharge machines, hobbing machines
B and grinders with operations in confined spaces.
A3, Model | 1T pIA | od | T1(54)
AL SPECIFICATION Z./ APL-401 4 3 PT1/8
BLg & & ( y APL-402 4 3 PT1/4
Blg 57 ZERY NERT AR ER Eh==s ° APL-601 6 5 PT1/8
Model Motor Dimensions Qutward size Enters caliber Power Amount of wind . T APL-602 6 5 PT1/4
. . - APL-801 8 7 PT1/8
OMC6050 1/2HP 200 x 230 285 x L585 x H370 5 220V 9m3/min ) APL-802 P - PT1/4
od =

OMC12050 1/2HP 200 x 230 330 x L585 x H420 57 220V 18m3/min

— 47 J — = @ —
| X #l H BN K BERAX T YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. \ X #l H BN K EBER AKX T YUNG TIEN LUBRICATION TECHNOLOGY CO., LD.




B2 i+ = B i+ B2 {4 & Bl 1%

ACCESSORIES ACCESSORIES
—
##288 Connector & Unit: mm Z 58 Plug B
L
T | | : — AL Model EfE DIA L T HEX
‘\mjﬁd A3, Model | fE DIA od L T T1 HEX DG-004 - 145 M8x1.0 8
— PD-101 o4 3 23 PT 1/8 M8x1.0 12 PG-006 - 15 M10x1.0 10
HEX & X T1 PD-110 26 3 23 M10x1.0 M8x1.0 12 PG-008 - 23 M14x1.5 14
PG-010 - 26 M16x1.5 17
AR Model 1T DIA ad L T T1 HEX
PD-401 04 3 18 M8x1.0 PT1/8 10
‘ ‘ PD-402 o4 5 18 M8x1.0 PT 1/4 14 .
T PD-601 26 4 18 M10x1.0 PT1/8 12 EEZUnit: mm
\ PD-602 26 5 18 M10x1.0 PT 1/4 14
PD-802 8 6 26 | M14x15 | PT1/4 17 Az Model | BEDA | ed [ w1 |2 | 1 [ 1 | #
HEX PD-803 8 8 26 M14x1.5 PT 3/8 17 PH1-1 - . 12 [ 20 [ 18PT PT18 | 12
PD-1002 10 7 29 M16x1.5 PT 1/4 19 PH1-8 - 2 12 | 20 | 1/8PT | M8x1.0 | 12
PD-1003 10 8 29 M16x1.5 PT 3/8 19 PH4-1 84 2 12 20 M8x1.0 PT 1/8 12
PD-1202 12 10 32 M18x1.5 PT 1/4 21 PH4-2 g4 2 14 22 M8x1.0 PT 1/4 14
PD-1203 12 10 32 M18x1.5 PT 3/8 21 PH4-6 g4 2 12 | 20 | M&x1.0 M6x1 12
PH4-8 o4 2 12 | 20 | M8x1.0 M8x1 12
PH6-1 06 3 14 | 22 | M10x1.0 | PT1/8 | 14
#3 Model | {E DIA ad L T T1 HEX PH6-2 06 3 14 | 24 | Miox10 | PT1/4 | 14
PD-406 o4 3 20 M8x1.0 M6x1.0 12
PD-408 o4 3 20 M8x1.0 M8x1.0 14
PD-410 o4 3 23 M8x1.0 M10x1.0 14 .
PD-610 26 4 24 M10x1.0 | M10x1.0 17
PD-612 26 4 24 M10x1.0 | M12x1.0 17
PD-812 28 6 30 M14x1.5 | M12x1.0 19 T4
1 ﬂﬁ Model L3 T1 T2 H
B2 Modol | BT DIA - - - — y $JO101 7 PT1/8 PT1/8 14
PN-4 o4 23 M8x1.0 PT 1/8 12
PN-6 26 23 M10x1.0 PT 1/8 12
PN-8 28 23 M14x1.5 PT 1/4 17 12HEX
PN-10 210 23 M16x1.5 PT 1/4 19
PN-12 212 23 M18x1.5 PT 3/8 21
m#i 'I'E' Nut EE{ZUnit: mm
A Model | BEDA | L | T | HEX ‘ “ wl_ - I3\, Model E{Z DIA ad L T HEX
m:‘; “g ;g ,\';/'18(;(11'00 1‘2) T PAN-4 04 4.2 12 M8x1.0 10
ST o5 - TITROS = T QJ od PAN-6 06 6.2 125 | M10x1.0 12
PM-10 210 36 M16x1.5 19 HEX ~»
PM-12 012 39 M18x1.5 21
BS{iIUnit: mm
A7 Model EfE DIA ad L L1 T HEX
PQ-8 - 3 26 4 M8x1.0 10 —
PQ-10 - 4 2% 4 M10x1.0 12 BT\ Model EDIA | ad L1 ) T T1 H
PQ-14 - 5 29 5 M1dx1 5 17 PH-401 4 3 18 | 18 | M8x1.0 | PT18 | 10
PQ-16 - 8 29 5 M16x1.5 19 PH-402 4 3 18 18 M8x1.0 PT 1/4 14
PQ-18 - 10 32 6 M18x1.5 21 PH-406 4 2 18 18 M8x1.0 M6xx1.0 10
PH-408 4 2 18 | 18 | M8x1.0 | Msx1.0 | 10
PH-410 4 3 18 | 18 | M8x1.0 | M10x1.0 | 10
E8 7 Unit: mm PH-601 6 4 20 | 20 | m10x1.0 | PTU8 | 12
PH-602 6 4 20 | 20 | miox1.0 [ PT14 | 14
- - PH-802 8 6 27 | 27 | Mm1ax15 | pT14 | 17
L1\ Model =D - - bl M/ PH-803 8 6 | 27 | 27 | M14x15 | PT38 | 17
PG-1 - 13 PT 1/8 10 PH-1002 10 8 30 | 30 | Mi6x1.5 | PT14 | 19
PG-2 - 15 PT 1/4 14 PH-1003 10 8 | 30 | 30 | M16x15 | PT3/8 | 19
PG-3 - 21 PT 3/8 17 PH-1202 12 10 | 33 | 34 | M18x15 | PT14 | 21
REs - Es P2 Z PH-1203 12 10 | 33 | 34 | M18x15 | PT3B8 | 21

X OB B B & B R R T YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD. X B B BN K EBREARX T YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

/B




B2 i+ = B i+

ACCESSORIES

I

#i] #2588 Connector & fiIUnit: mm
L J BT, Model | BEDA [ ed | L | T | HEX
A PQ-8T ; 3 19 M8x1.0 10
{ed PQ-10 - 4 19 M10x1.0 12
PQ-12T - 6 24 M12x1.0 14
HEX \ T PQ-101 - 6 20 PT1/8 10
4‘»%
R | 'y A7 Model B DIA ad 2D L1 L T1 H
H PEF-4 o4 3 6 18 18 | M8x1.0 | 10
Wyi L1 PEF-6 26 5 7 24 185 | M10x1.0| 12
g5/ v

Spend obliquely ﬂ‘_l.,l @D

<L> FUTY, Model Am/m B m/m

Pl-4 3.8 2
A E IB PI-6 58 4

BEfi7Unit: mm

AUTS Model | EfE DIA L1 L2 T T1 H

I : PHV4-1 o4 18 18 M8x1.0 PT1/8 10

H PHV4-2 o4 18 18 M8x1.0 PT1/4 10

R PHV6-1 o6 20 20 M10x1.0 PT1/8 12

FRENTE : PHV6-2 26 20 20 M10x1.0 PT1/4 12
Flow direction ‘?_Ci]

EEf{7Unit: mm
|- L1 »|
AT, Model | 1% DIA L1 T T1 HEX
e Wul PV4-1 o4 235 M8x1.0 PT1/8 10
T/ PV4-2 o4 235 M8x1.0 PT1/4 10
— ‘m PV6-1 6 235 M10x1.0 PT1/8 12
HEX PV6-2 26 235 M10x1.0 PT1/4 12
FENIE
Flow direction
BT, Model | BEDA_| wo |t |1t | HEX
PC4-1 o4 225 M8x1.0 PT1/8 10
PC4-2 o4 225 M8x1.0 PT1/4 10
PC6-1 26 225 M10x1.0 PT1/8 12
PC6-2 26 225 M10x1.0 PT1/4 12

AENTIE

Flow direction

B2 i+ = B i+

ACCESSORIES

I

%iﬁ Plpe EE{i7Unit: mm
A B, BE = BRE
Copper pipe 4 Aluminum pipe : — Nylon pipe |
fEXE ltem £08E Model 51X Pipe dia
& Copper pipe PC 4,6,8,10, 12
i2E%E  Aluminum pipe PA 4,6, 8,10, 12
fEBeE Nylon pipe PN 4,6,8,10,12
217 2= 5 /o SRt : : = Uni
BE - EEERE#H Nylon Pipe Spring ${Unit: mom
| mmvose | @@Ppeda | EE lengh |
o6 — FC-405 4 500
FC-410 4 1000
L - ) FC-415 4 1500
FC-605 6 500
FC-610 6 1000
FC-615 6 1500

B2 70 FA B8 Pressure Switches = U mm

AU Model F131% Bore type ON OFF

YL-2117 3/8 ~24 15.5kg/cmz 10.5kg/cmz

.. YL-2118 3/8 ~ 24 20kg/cm2 15.5kg/cm2

BUT\ Model | Eift Electric current | RAESRE Max. fluid temperature | BJER 7EG[E] Adjustable range

= YL-105 250VAC 80~120°C 1~5bar
7 IKFIRA Floating Switch
ABLEIZEES Output contact point :10W / SPST
ATTEEE Overload : 125 VAC

AR ALIIBER Max. output circuit : 0.5A
AR KBESER Max. motor power : 1A
AIR{ERT] Operation pressure : V61PF: 4kg/cm?
FS-8102(A,B) FS-6102(A,B) AR(FEE Temperature : -40~80°C
! ANEF FS-8102: M8 x 1.25
i3 = NF FS-6102: M10x 1.5

EMIER Adjustable Mozzle E{7Unit: mm
2B
1 WHLA{
5 4

mi
SP-14-33L 3 M14 x P1.0 7 33 14
SP-1/4-33L 5 S 1/4 PT 7 4 83 14
F SP-3-8-33L 8 5 3/8 PT 10 7 44 21
SP-1-2-33L 10 7 1/2 PT 12 10 53 27

EE{{7Unit: mm

T2

‘&JLZ AT Model | % Dia. | o gD1 | eD2 | L1 L2 1 T2
| T | S0102S - | 55 | 85 | 35 | 88 | 30 |PT8]|PTI8

D1, L1 S0103S - 9 - 4 | 93 | 20 |PT3m| P38
l S0104S : 2 | - 50 | 98 | 30 |PTi2]|PTIR
‘ D2 N T1

— @ ——




B2 i+ = B i+

ACCESSORIES

I

& & Pipe Clip

BS{I7Unit: mm

- £z F, Model EIE DIA 2

R\ &%k PZ-0104 1 ] 4 .
Pipe Clip PZ-0204 o4 2 8.4 10 4 2 0.8
PZ-0304 24 3 12.6 10 4 2 0.8
PZ-0106 26 1 6.0 12 6 3 1.0
PZ-0206 26 2 12.4 12 6 3 1.0
PZ-0306 26 3 18.6 12 6 3 1.0
PZ-0108 28 1 8.0 12 7.7 4 1.2
PZ-0208 28 2 16.4 12 77 4 1.2
PZ-0308 28 3 246 12 7.7 4 1.2
PZ-0110 210 1 10.0 14 9.7 5 1.4
PZ-0210 210 2 20.4 14 9.7 5 1.4
PZ-0310 210 3 30.6 14 9.7 5 1.4
PZ-0112 212 1 12.0 16 1.7 6 1.4
PZ-0212 212 2 24.4 16 1.7 6 1.4
PZ-0312 212 3 36.6 16 1.7 6 1.4

= AR A, Model E{E DIA B8 A B (e} D(R) t
ﬁﬁ.}[ﬂ ﬂ.g S PZ-1404 24 4 16.8 10 4 2 0.8
Pipe Clip PZ-1504 04 5 21.0 10 4 2 0.8
PZ-1604 24 6 25.2 10 4 2 0.8
6. 7 A PZ-1704 24 7 29.4 10 4 2 0.8
e PZ-1804 24 8 336 10 4 2 0.8
R2 “_T ‘ ‘)/ Cc PZ-1406 26 4 24.8 12 6 3 1.0
{ S — PZ-1506 26 5 31.0 12 6 3 1.0
| PZ-1606 26 6 37.2 12 6 3 1.0
b B PZ-1706 26 7 43.4 12 6 3 1.0
t PZ-1806 26 8 49.6 12 6 3 1.0
I D~ PZ-1108 08 1 8.0 12 7.7 4 1.2
PZ-1208 28 2 16.4 12 7.7 4 1.2
5.2 PZ-1308 28 3 24.6 12 7.7 4 1.2
PZ-1110 210 1 10.0 12 9.7 5 1.2
PZ-1210 210 2 20.4 12 9.7 5 1.2

= B E High Pressure Hose (metal surround)

BS{I7Unit: mm

S EECEHNE (FHCH@) ABFTEIAcceptable pressure: 40kg/cm2

igh-Pressure nylon tube AM%Materials: iSH%E Rubber
AEiRTube: §1E copper

R ———

A ST IAcceptable pressure:
25kg/cm2

AViBMaterials: HHEE -
HNINEEEHE Rubber with metal

AEifxTube: $E copper

EEBIREBE]E (FHCRY)

Flexible hose (Metal cover)

BUT\ Model |&K[E Lenght| HHE Dia. | A{E Dia. |E Dia.

AafiR

L+5mm d1 d3 d2 Volumetric expansion
FHC-401H 100
FHC-402H 200 4 M8x1 12 1

FHC-403H 300

FHC-601H 100

FHC-602H | 200 6 M10x1 14 1.4

FHC-603H 300

FHC-801H 100

FHC-802H 200 8 M14x1.5| 16 1.4

ASFTRIAcceptable pressure:
15kg/cm?

AtEMaterials: fiSHEE Rubber

AEifTube: 1Zcopper

N EHFHRERE (FHCYRY)

Flexible hose

FHC-803H 300

AGRRYBEN  RYRETEIE -
The length of flexible hose can be made by
customer's requirement.

i@ ;}g %E Filter EE{T7Unit: mm
i | AT, Model A B C BIEZRE Filter the desity
L YD-1 1/8PT 70 50 1008
YD-2 1/4PT 120 60 1008
C

. _ ‘ﬁA T, Model SEIEZE Filter the desity
] YD-3 3/8PT 160 75 1008
B - YD-4 1/2PT 160 75 1008
o st YD-6 3/4PT 200 90 1008
YD-8 1" 270 120 1008

&

B2 i+ = B i+

ACCESSORIES

I

@D

1-10

AR Inter type

AU Model | [ER/J&G[E| Pressure Range

oD 40 40 | 65 | 65 65

5,‘?3 ;E ﬁ?ﬁ Filter EEfiIUnit: mm

U3, Model | 18 | 14 | 38 | 12 | 34 | 1 |112] 2 |212] 3

65 | 85 | 107 | 148 | 148

L 49 49 | 105 | 105 | 142

173 | 203 | 218 | 280 | 280

[B27J5® Pressure

B 113\ Erect type
AU, Model | [B2J&@[E] Pressure Range

1-20

1-30

1-50

0~10kg/cm? E-10 0~10kg/cm?
0~20kg/cm? E-20 0~20kg/cm?
0~30kg/cm? E-30 0~30kg/cm?
0~50kg/cm? E-50 0~50kg/cm?

Conduits

BrK = 1258

BUgR B thay PIfE 1.D(mm)

Catalog Nominal Model
No. i

HHE 0.D(mm)

B5{{7Unit: mm

BEEAT
Bending

Giea B/J\Min | &K Max| &/)\ Min | §K Max Radius(mm)

PT70603 3/8" NT706 | 12.3 12.8 171 17.6 60
PT70604 1/2" NT706 | 15.8 16.3 20.8 21.3 70
PT70606 3/4" NT706 | 20.8 21.3 25.9 26.4 90
PT70610 1" NT706 | 26.4 271 31.9 32.5 125
PT70612 | 11/4" | NT706 | 35.0 35.8 40.4 41.0 160
PT50614 | 11/2" | NT506 | 39.8 40.5 45.9 46.5 190
PT50620 2" NT506 | 51.3 51.9 56.7 57.3 220
PT50624 | 21/2" | NT506 | 62.9 63.6 70.7 71.5 260
PT50630 3" NT506 | 77.9 78.7 86.2 87.0 390
PT50640 4" NT506 | 101.6 | 102.6 | 111.1 1121 530

Liquid-Tight connectors

E8{'7Unit: mm

HUTX Model |  #81% Ry
Nominal Dimension

size

SABB-03 3/8" 11.2 27.6 42.2 15.0 20.9 PF1/2"
SABB-04 1/2" 14.8 34.5 42.5 15.0 20.9 PF1/2"
SABB-06 3/4" 18.7 41.5 50.0 17.3 26.4 PF3/4"

A EERERRSE : 4"

AUTN Model | #R1% TR
Nominal Thread

size
SABL-03 3/8" 11.2 27.6 55.0 15.0 20.9 PF1/2"
SABL-04 1/2" 14.8 34.5 61.0 15.0 20.9 PF1/2"
SABL-06 3/4" 18.7 41.5 62.0 17.3 26.4 PF3/4"

A EEREESE 4"

BUT\ Model | #R1% TR
Nominal Thread

size
SABK-03 3/8" 11.2 27.6 57.0 15.0 20.9 PF1/2"
SABK-04 1/2" 14.8 34.5 57.5 15.0 20.9 PF1/2"
SABK-06 3/4" 18.7 41.5 62.0 17.3 26.4 PF3/4"

A FERIRRSE - 4"

X OH BB KRB R AT

YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.

X #l H B B K

B

- &

YUNG TIEN LUBRICATION TECHNOLOGY CO., LTD.




